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In the following list identify these statements which are indicative of helping behaviour of
effective teaching. Select from the code to give your answer.

(a) Instructional variety marked by multiple devices used.

(b) Using the ideas of students while making presentations.

(c) Student’s success rate as evident in correctly understanding the assignments.
(d) Engagement in learning tasks.

(e) Teacher affect as manifest in relations with students.

(f) Probing to add and seek classifications of ideas.

Code :

Options :

91394345601, (b), (e) and (f)

91394345602, (a), (b) and (c)

(), () and (a)

91394345603,

(b), (c) and (d)

91394345604,

Question Number : 1 Question Id : 91394311607 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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(d) AT HE H G|
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Options :

(b), () 3R (£)

91394345601.

(a), (b) 3R ()

91394345602,
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(d), () 3R (a)

91394345603,

(b), (c) 3R (d)

91394245604,

Question Number : 2 Question Id ; 91394311608 Question Type : MCQ Option Shuffling : Yes Display Question Number ;: Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :
From the list given below identify these statements which relate to the characteristics of a
teaching act. Select from the code to indicate your answer.

(a) Teaching is a personal act to facilitate self development.

(b) The goal of all teaching is to cause learning.

(¢) Teaching invariably implies changing the opinion of others.
(d) Teaching is triadic rather than dyadic in nature.

(e) Teaching means selling ideas.

(f) Teaching means reaching the mind of students.

Code :

Options :

(), (b) and (c)

91394345605.

(c), (d) and (e)

91394345606.

(b), (d) and (f)

91294245607,

(£), (e) and (d)

91394345608,

Question Number : 2 Question Id : 91394311608 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

(a), (b) 3R (c)

91394345605.

(), (d) 3T (e)

91394345606.

(b), (@) 3t ()

91394345607

(), (e) 3R (d)

91394345603.

Question Number : 3 Question Id ;: 91394311609 Question Type : MCQ Option Shuffling : Yes Display Question Number ; Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :
For promoting competence and excellence in and through education, which of the needs of
Maslow’s hierarchy has to be addressed ?

Options :

01394345605 1Need for love and belongingness

A—— Need for self esteem

91394345611 Oafety needs

S 1BYABASELD: Need for self - actualization

Question Number : 3 Question Id : 91394311609 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

Y 3R 379 hi STl

913943456089,

3TcH T hl ATkl
91294345610,

91394345611.

91394345612,

Question Number : 4 Question Id ;: 91394311610 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Optmn Orientation : Vertical

Correct Marks : 2 Wrong Marks :

ﬁmﬁwﬁﬁ@mumﬁﬁmﬁwmﬁ FH | T WG
(a) TR bt TcH-wHeA

(b) T1&teR <1 oo 9

C) forerer o1 = drgan SR e

d) Toers § FRisH IR e s &1 319E

e) WIftF BTl W Rierh & Ths

(f) ToetF Y STEITA -

che :

Options :

I A, S,

(c), (d) 3R (f)

91394245613,

(a), (e) 3R (<)

91394345614.

(b), (c) 3R (d)

91394245615,

(a), (c) 3R (£)

91394345616.

Question Number : 4 Question Id : 91394311610 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct Marks : 2 Wrong Marks : 0

Which of the following are hindering factors in effective teaching ? Select from the code to
give your answer.

(a) Teacher’s self-efficacy.

(b) Teacher’s subject knowledge.

(c) Low ability and willingness level of teacher.

(d) Lack of planning and teaching skills in a teacher.

() Teachers’s mastéxy of linguistic skills.

() Inappropriate body language of the teacher.

Code :

Options :

91394345613 (), (d) and (F)

(@), (e) and (c)

91394345614,

(b), (c) and (d)

91394345615,

(a), (c) and (f)

91394345616.

Question Number : 5 Question Id : 91394311611 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
In the following characteristics of an evaluation procedure, identify those which describe
formative assessment. Select from the code to indicate your answer.

(a) Evaluation is a post instructional event.

(b) Evaluation occurs during instruction.

(c) Evaluation is carried out by policy makers.

(d) Evaluation takes place periodically.

() The aim of evaluation is to improve the process of teaching.
(f)  Evaluation is based on participation of students and teacher.
Code :

Onptions :

(), (b) and (c)

9139432345617.

s159a34560s M IC) Anch(d)

91394345619, (b), (e) and (f)
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(c), (d) and (f)

91394245620.

Question Number : 5 Question Id ;: 91394311611 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

o Ufekan w1 freifra fasiaarsi § &, froivreas qoaice &1 9 X arel fasiaarei w
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(a) AR IT-FTAHF ST T

(b) TAIHA ST & QA Hfed Bl 2|

() HeAHT &1 Fd fa-fmfar & 2

(d) TIHT i 9 9 wfed B ¥

(e) e 1 3e¥d foreror yfshan & o X B

() IIHA BE IR et i gl W e 2 g

Options :

(a), (b) 3R (c)

91394345617.

91394345613, (P)s (€) 3R (d)
(b), (e) 3T (f)

91394345619,

(0), (d) 3R (f)

91394345620.

Question Number : 6 Question Id : 91394311612 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
A researcher while writing his/her thesis does not give the rationale underlying use of
statistical techniques. This will be best described as a case of :

Options :

Ethical misconduct
91394345621,

913294345622 An error of omission

An error of commission
91394345623,

Technical lapse
91394345624
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Question Number : 6 Question Id : 91394311612 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
3T TY-Ue Torad 99 U Siienedl Qifersia a1l o STITANT o1 Tohi9R 78l Jand 8, 39 =
T forygent 399 IELT TH1 ST 2

Options :
fie FHEER
qE
913943456:22Z. QI(H grz

91394345623, N1 94 DY £l n'é‘ iﬁ‘

91394345621

91394345624, dnril<nl 'ci\ch

Question Number : 7 Question Id : 91394311613 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
In which type of research, the steps of research have to be cyclic ?

Options :

| Grounded theory research
91394345625,

Action research
91394345626.

T — Experimental research

91394345605 —ase study research

Question Number : 7 Question Id : 91394311613 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

mmmﬁaﬁ,ﬁww—qﬁwmm?

Options :

ST Fagia Y

91394345625.

TR MY

91394345626,
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YR 3N

91394245627,

e LTI MY

91394345628.

Question Number : 8 Question Id : 91394311614 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

A researcher plans to study the effect of socio-economic status of parents on the school
drop-out rate in a district. What type of research will it be ?

Options :

| 23 Ot : 3 - o "
e Hypothesis formulating research

Experimental hypothesis testing research
91394345630,

Non Experimental hypothesis testing research
91394345631,

Ethnographic research

91394345632.

Question Number : 8 Question Id : 91394311614 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
ek el fordt fotel # fa=nera =l <= § S1€ <7 dTel B o1 < W ATUHTEh] ! HHITSIh- 316
feafa & 9@ F1 STET FE F A I € | T8 TR YR 6 Sy 2w ?

Options :

IReeqr e 3y

91394345629,

URITTTeR GREeTAT TIT0T N

91394345630.

TR-9rNTTe IRereaqr aderor sy

91394345631.

91394345632, 1 Qﬁa

Question Number : 9 Question Id : 91394311615 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Below are given a few key terms. Identify these which denote qualitative research paradigm.
(a) Ex post facto method

(b) Ethnography

(c) Symbolic interaction

(d) Descriptive survey

(e) Narrative

(f) Experimental method

Code :

Options :

(a), (b) and (c)

91394345633.

(d), (e) and (£)

91394345634.

(), (b) and (f)

91394345635.

(b), (c) and (e)

91394345636.

Question Number : 9 Question Id : 91394311615 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

I % 7@ U feu U ¥ | IR TeEE Y S UNCHS Iy Ui ol Yeiid o € |
(a) wRIR fafy

(b) Teufd fa=mE

(c) Wikfaen ofa:feha
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(e) G W

() arEfTe fafy

he:

Options :

91394345633 (2), (b) 3R (9)
91394345634, (d)" (e) ‘ﬁr{ (f)

(a), (b) 3T (£)

91394345635.
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(b), (c) 3R (e)

91394345636.

Question Number : 10 Question Id ;: 91394311616 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :
For which type of research, the action words - ‘Control, manipulate and observe” are most
relevant 7

Options :

S SRS Action research

O — Historical Research

-' 1 “
§i5adsusEss P erimental research

ST Grounded theory approach based research

Question Number : 10 Question Id : 91394311616 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
o yoeR & WY & forg, Topan-=res wrse ‘3101, SR-Th AT SIR STaclish’ — aifereh Ui ¢ 2

Options :

fohareTesr Y

91394345637.

Ufaeiaes oy
YTRITTeR I

91394345639,

91394345638.

SHIHT fagia giteenTor smenfia sy

91394345640,

Sub-Section Number: 2
Sub-Section Id: 913943586
Question Shuffling Allowed : Yes

Question Id : 91394311617 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (11 to 15)
Question Label : Comprehensic}n
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Read the passage carefully and answer the questions from 11 to 15.

Smart phones have grown in popularity over the last few years, and applications, or
content, rest at the heart of this growth. Content has become more important than hardware
and the quality of content is determined by creativity. Creativity emerges as seemingly
disparate areas, such as education, industry, and culture. As aresult, convergence of virtually
all areas is receiving the spotlight today.

Convergence must also take place in the area of policy-making. Breaking down the
walls between education and science and technology (S & T) universities and businesses and
research and education, and convergence of these areas will bring about synergy and perhaps
yield unexpected creative results. When education and S & T merge, one plus one can result
in something greater than two. Convergence can take many forms : providing an education
that develops divergent thinking and encourages creativity in students at an early age;
developing human talents required by business by breaking down the barriers between
universities and businesses, and sharing the assets of government funded research institutes
with university students. These merges form the platforms for human creativity.

A nation can only become a world leader in S & T when its scientists are cultivated and
allowed to research to their heart’'s content.

Sub questions

Question Number : 11 Question Id : 91394311618 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
According to the passage use of the smart phones has grown because of developments in :

Options :

913942345641, TECI'IHOIOgIE‘.:

Researches
91394345642

91394345643, Need for applications

S AR Interest of people

Question Number : 12 Question Id ;: 91394311619 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :
In the view of the author of this passage, what determines the quality of content ?
Options :

o1394345645. [ revailing traditions

SisedsasEds IS of application

_ Creativity and convergence factors
91394345647,
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01304345645 L1T€as of concern

Question Number : 13 Question Id : 91394311620 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Unique results will flow owing to :

Options :

Policy-making

9139432345643,

. Creative results of synergy
91394345650,

Removing the hindering factors between research and education
91394345651.

Svner
91394345852 ) 1Y

Question Number : 14 Question Id ; 91394311621 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks ;
On the basis of this passage, it can be stated that convergence 1s :

Options :

| A linear process developing in a sequential fashion
91394345653,

A simple additive process to enhance power
91394345654,

An interactive process centred on various elements
91394345655

| A multifaceted mteractive process
91394345656,

Question Number : 15 Question Id : 91394311622 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Yertical

Correct Marks : 2 Wrong Marks : 0
Quality of research in a nation gets enhanced as a result of :
Options :

Dedicated spirit of the researchers
91394345657,

_ Hardwork of the researchers
91394345658,
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Expert power of the researchers
91394345659,

91394345660. Variety in researches

Question Id : 91394311617 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (11 to 15)
Question Label : Comprehension
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Sub questions

Question Number : 11 Question Id : 91394311618 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
TR & STTHR T T 1 3 fe=ifera # ¥ ffg § foema & &Ro s@1 872
Onptions :

EIEIRIER]

91394345641,

my

91394345642,

STTANT hi ST
91394345643,

GIERIE!

91394345644,



www.prepp.in . re p p

Your Personal Exams Guide

Question Number : 12 Question Id : 91394311619 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

wwﬁ%ﬁw%a@ﬂ,uﬁmﬁwﬁmﬁﬁﬁﬁﬁ%ﬁ%?

Options :

R GERICHEIR
3TN & &7 |
TEATHAl 3R GEAre &R |

91394345645

91394345646

91394345647,

91394345648, T\EH aﬁﬁ

Question Number : 13 Question Id : 91394311620 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
forerer WiegH | foeigron aitoms i 2

Options :

91394345649, i“ﬂ_ﬁm
gyIfd o TeAHS TR

91394345650,

MY UG &1 & U & AR hl g2H

91394345651,

91394345652, H

Question Number : 14 Question Id : 91394311621 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :

T o YR W IS hal T Hehal ¢ Toh GEHIA 7
Options :

s ®Y 9 fahfad F areil Tk 38 ik

91394345653,

yife LM i T G AFTRHS Gihdn

91394345654,

fafy=1 el W enuiRa U 3id: fsharcaes gfswan

91294345655,



www.prepp.in . re p p

Your Personal Exams Guide

Tk agfaY 31q: TharcHes ufsha

91394345656.

Question Number : 15 Question Id : 91394311622 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
fordt T2 B Ty 1 U § foheeh TROTHEEY deradl el § 2

Options :

nenfeAl o gafda el

91394345657,

N T HIR FH

91394345658,

TR ki ferrosran wiferd

91394345659,

el fafere

91394345660,

Sub-Section Number: 3
Sub-Section Id: 913943587
Question Shuffling Allowed : Yes

Question Number : 16 Question Id ;: 91394311623 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :
Which of the following sequence correctly depicts the linear communication model between
teacher and students.

Options :

Encode — Symbols — Message — Channel
91394345661,

- Channel — Message — Symbols — Encode
91394345662,

Message — Channel — Symbols — Encode
91394345663,

Symbols — Message — Encode — Channel
91394345664,

Question Number : 16 Question Id ;: 91394311623 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :
freiferd | 9 SF 91 SATHH ek oIk S & o9 S8 |90 UqH ol 9et §9 H UfRid o € 2

Options :
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e Hehdd — Fohd — HY — =T

91394345661.

TTA — HIW — Hohd — Fe Hehad

91394345662.

W — =T — Hehd — FH Hoha

91394345663,

Hhd — H — F2 Hohad — T

91394345664,

Question Number : 17 Question Id ;: 91394311624 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :
A university teacher makes a very effective expository presentation in his/her class without
caring for its effect on the students. This is an example of a/an :

Options :

Linear Communication Model
91394345665.

Interactive Communication Model
91394345666,

Transactional Communication Model
91394345667.

Ty Authoritarian Communication Model

Question Number ;: 17 Question Id : 91394311624 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

o favafoener ferer sTa=t when o sIgd W IuiHTcaes TEgfa L/ il §, SEl W 39% 99 &
TR H fam fore 9/ 98 freifea | 9 forgem e g2

Options :
30 HY9OT YfdHH

91394345665,

R E DR ER L LBIGEIE]

91294245666,
IERIEEIG] '

913942450667, W W gﬁﬂ:lﬁ
HdrcHS U9 gfqam™

91394345668,
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Question Number : 18 Question Id : 91394311625 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Below are given two sets. Set - I specifies the sensory modes while Set - II offer illustration
of speech communication to go with them. Match the two sets and indicate your answer by
selecting the appropriate code.

Set - 1
(Sensory modes)
(a) Sight mode
(b) Hearing mode
(c) Touch mode
(d) Smell mode

(e) Taste mode
Code :

(@) (b) (o) (d)

Options :

91394345669, (iv) (v)

91394245670, (1) (H)

9139434567 1. (Il)

91394345672, (H)

i)
i)

)

@)
i)
(iv)
)

(e)
i)
(i)

(v)

(1)

Set- 11
(Illustrative speech)
It leaves a bad taste in my mouth.
I can’t put my finger on the problem.
Something is fishy.
That looks good to me.
That sounds fine to me.

(1) (1)

(tv) (V)
(v) @
(v)  (v)

Question Number : 18 Question Id : 91394311625 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

= < 9 e e § | wug-1 ¥ sfaa-Had) yeral faffcse € Sefe Wug-11 § S 31769 S

9T 61 Ui ¥ 1 ST AR ok gRfed Y SR ST & i 99T A g U S < |

qgg-1
( sFga-wad gahTan)
(a) S TP
(b)  FAUT GehRdl
(c) I YehI
(d) SO YRR
() TH YTl
he :
(@ (b) (c)

Options :
1V \Y%
9139434566%5. ( ) ( )

(d)

0
i)
i)
@
)

(e)
(i1)

qg-11

( TRTT Weh HWHTHUT )

IO W e 7 S e 3 ¥

B guEE W 79T Sl el T 9o |
FS FSY ¥

T TS T T ¢ |

T G- § I8 3F i ¢ |

(iif) ()
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91394345671, i) (@) @) (v) (@)
91394345672, W @ @ @) O

Question Number : 19 Question Id : 91394311626 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following is a powerful indicator of mis-communication in a classroom
transaction ?

Options :

Volley of questions relevant to the subject.
91394345673,

“Yawning' by most of the students.
91394345674,

_ Purposely non-participative moves of students.
91394345675,

Volley of questions irrelevant to the subject.
91394345676

Question Number : 19 Question Id ;: 91394311626 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :
frifra ® | @A Fen frafafa 8 F-9U0 &1 TF 99 9996 § 7

Options :

fawa < gfa i 9991 &1 et

9139434567 3.

At SEN &1 S A1

91394345674,

BEI g Uievd AUAYURT g9

91394345675.

fawa & gfa 3T 991 &t SISl

91394345676,

Question Number : 20 Question Id : 91394311627 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
In which model of communication noises” are introduced as an important variable ?
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Options :

S Linear Model of Communication

—_ Participative Model of Communication

| Transactional Model of Communication
91394345679,

T —— Assertive Model of Communication

Question Number : 20 Question Id : 91394311627 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

o O WA W el R ¥ w9 watta e e

Options :

_memﬁ

91394345677

- HUYOT T YfaHIfTaT WeR WiHE

91394345678

- Tyuer = TRt T HiaHeE

91394345679

YT T ST T

91394345680

Question Number : 21 Question Id : 91394311628 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Aman travelled 300 km by train and 200 km by taxi, and he completed this journey in
5 hours and 30 minutes. However, if he travels 260 km by train and 240 km by taxi, it will
take 6 minutes more to complete the journey. The speed of the train is :

Options :

100 km/hour

91394345631.

120 km/hour

91394345632.

91394345633. 80 kIII/hDIlI‘

110 km/hour

91394345684.
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Question Number : 21 Question Id : 91394311628 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

3199 9 300 . H1. &Y aEn 29§ 3R 200 6.1 1 A TRt | T 3R W 3T 5 He 30 fie &1
O T | @, af€ 98 260 M. 27 ¥ 3R 240 fop. 1. 2of ¥ a1 ha € O U AR G FA
T 6 THAe 1 99g I T I S HT A ©

Options :

100 fe.HT/=

91394345681

120 foh. |t/ e

91394345682

80 IER: VAT

91394345683

- 110 ToR.HI/HeT

91394245684

Question Number : 22 Question Id : 91394311629 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation ;: Vertical

Correct Marks ;: 2 Wrong Marks ;

The present age of the father is twice that of the elder son. Ten years hence the age of the
father will be three times that of the younger son. If the difference in ages of the two sons is
as 15 years, the present age of the father is :

Options :

91294345685, 110 et

91394345656. 70 FEAED

91394345687. 60 years

91394345633. 50 yedLs

Question Number : 22 Question Id : 91394311629 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Tt &1 I 37 1S O 1 ST &1 AT &1 3T | €9 96 918 foa &7 ST S T i 341 i diF
1 BRT | 9SS O3 6 TG | SR 15 99 31 1 a1 61 SdHe ST €

Options :
110 =

91394345685.
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70 Y

913943456856.

0 4

91394345687,

50 98

91394345683.

Question Number : 23 Question Id : 91394311630 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In the sequence of numbers 2, 8, 24, 64, 160, x,........., the term x is :

Options :

2
91394345684, 320

384

91394345690.

192

91394345691, =

224
91394345692

Question Number : 23 Question Id : 91394311630 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
qEeli & ®H 2,8, 24, 64, 160, x,........., Hx W H A € :

Options :

2
912943456849, 320

384

91394345690,

192

91394345691, -

224
91394345692

Question Number : 24 Question Id : 91394311631 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
In a certain code, PLEADING is written as FMHCQMFB. How is SHOULDER written in

that code ?

Options :
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KCDQTIPV

9139432345653

91394345694, QDCKVPIT

QDCKTIPV

91394345695

91394345696. 1 IPVQDCK

Question Number : 24 Question Id : 91394311631 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
et Sfqua %2 § PLEADING &1 FMHCQMFB for@n 5iar g1 39 & § SHOULDER &1 3
feren simem 2

Options :

' KCDQTIPV

91394345693

- QDCKVPIT

91394245694

QDCKTIPV

91394345695

91394345696. 1 IPVQDCK

Question Number : 25 Question Id : 91394311632 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
In conveying the same meanings, which of the following is incongruous ?

Options :

Unique

91394345697

Beautiful
91394345698,

Rare
91394345699,

Exceptional
91394345700,

Question Number : 25 Question Id : 91394311632 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

S Cll

91394345697,

*

912394245698, i
a4

YAIETcHS
91394345700,

913943456989.

Question Number : 26 Question Id : 91394311633 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
In terms of the relationship indicated below, which word will correctly pair to replace the

question mark (?) ?
Scrub : wash : : Sob: ?

Options :

Cry

9139432345701.

Water
91394345702,

Sad

91394345703,

91394345704, Tease

Question Number : 26 Question Id : 91394311633 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

ﬁaﬁmﬁa%w,#mwaﬁwﬁ%@m@m?
TS : 91 : : b : 2

Options :

91394345701,

91394345702,

91394345703,
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Question Number : 27 Question Id : 91394311634 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Given below are two premises with four conclusions drawn from them (taking singly or
together). Which conclusions are validly drawn ? Select the correct answer from the code

given below.

Premises : (1) All lawyers are extroverts.
(ii) Some wisemen are extroverts.
Conclusions : (a) All lawyers are wisemen.
(b) All wisemen are lawyers.
() Some extroverts are wisemen.
(d) All extroverts are lawyers.
Code :
Options :
91394345705. (El) OI‘L[}?’

91394245706,

(b) and (c) only

(a) and (c) only

91394345707,

(c) only

91394345708.

Question Number : 27 Question Id : 91394311634 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

e S AR o fou T Y =R forend feherd € (SToRel 91 Uk 9190) | hi9 91 fehd w@t 82
=i fou T e § 9§ WE I/ A |

ST AT (1)
(11)
freand ()
(b)
()
(d)
e

Options :

qufi Sifrere sifeje 2id € |
F qGHE A SfEE A ¥
gt eifreaar i ¥ |

gt gfgam st ¥ |

FS Afcqe JfEHH ¢ |

Teft e sfereea 8

91394345705. (El)
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fad (b) 3R (c)

91394345706,

fa% (a) 3T (c)

91294245707,

91394345708. (C)

Question Number : 28 Question Id : 91394311635 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which is an example of a correct deductive argument ?

Options :
There are 24 CDs on the top shelf of my bookcase and 14 on the lower shelf. There are

s 10aac709 1O other CDs in my bookcase. Therefore, there are 38 CDs in my bookcase.

No one got an“A’” grade on yesterday’s test. Jatin wasn’t in school yesterday. Jatin will

s make up the test today and get an ‘A’ grade.

All human beings are in favor of world peace. Terrorists don't care about world peace.

~ Terrorists bring about destruction.
91394345711,

You have to be 16 years old to get a driver’s license. Abhi will be 16 years old tomorrow.

Therefore, Abhi can now buy a car.
91394345712,

Question Number : 28 Question Id : 91394311635 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
fr=ifrd & § F U WE TS a1 3SR § 2

Options :

N IF-F9 F T TeE H 24 IR Froct Ter § 14 TE1 €| MIF-F9 H R IR @ 7=
| ZHieT, W gE-Y T 38 W F

el hi ae H fort 1 A7 U R e | Sifa el S | = o | Sifae Stret we < iR
91304345710, AN PRIl

Q4 o7 fava wifa & 987 § €| AiFarel fava wifd &t e’ - w3 | STk o
91394345711 m%l

91394345709

SIS AHY UM o fold 3TT9eh! 16 &Y R 8F1 96T | 3114 Fel 16 IY o1 81 ST | ST,
- 379 31 T HR g Hh 2|

91394545712

Question Number : 29 Question Id : 91394311636 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct Marks : 2 Wrong Marks : 0

In a certain flight crew, the positions of the pilot, copilot and flight engineer are held by
Mr. Ajit, Mr. Bhavesh and Mr. Chirag, though not necessarily in that order. The following
statements are true for all the three :

(i) The copilot is the only child and earns the least.

(i) Chirag is married to Bhavesh's sister and earns more than the pilot.
Who is the copilot ?
Options :

Ajit
91394345713,

Bhavesh

91394345714.

Chirag
91394345715,

Either Ajit or Chirag

91394345716.

Question Number : 29 Question Id : 91394311636 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Ffaug famm =t g § At A, o o IR o TR U, He-uree SR WiRe SSIR €,
2ictlfen ST 81 for g2 ot w0 H 91| f=iferd Fua 1 dFi < foru w@r €

() TE-URIEE FHe UM ¢ IR FIY HH FHAM |

(i) ToRmT ST ST oW i 987 U T ¢ SR 98 UHeiE § S1fYeh FHw |

e YA ShiF &2

Options ;

91394345713,

SEN

91394345714,

913394345715.

a1 a1 31fsra ar e

91394345716.

Question Number : 30 Question Id : 91394311637 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Ravi and Kunal are good in Hockey and Volleyball. Sachin and Ravi are good in Hockey and

Baseball. Gaurav and Kunal are good in Cricket and Volleyball. Sachin, Gaurav and Mandeep
are good in Football and Baseball. Who is good in Hockey, Cricket and Volleyball ?
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Options :

Sachin

91394345717.

Kunal

91394345718.

Ravi
91394345719,

Gaurav
91394345720,

Question Number : 30 Question Id : 91394311637 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

g IR FHomet gt AR diciaic & 31w faardt €1 afe X W gt Sik dyara & o= faere
&1 TR 3R Fonet fohche SiR dfcliare F 1= faemel ¥ | 9fem, iR iR S Fesia iR Sl
& o= Taare €1 2, fohohe oiR dfctiaia &1 sr=a1 faasl #H g2

Options :

91394345717.

FHOTA

91394345718.

fa

91394345719.

isC]

91394345720.

Sub-Section Number: 4
Sub-Section Id: 013943588
Question Shuffling Allowed : Yes

Question Id : 91394311638 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (31 to 35)
Question Label : Comprehensi-:}n
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Consider the following two tables (I and II) that show the production (in Tonnes) of four
products P, Q, R and S during the years 2010-2015 and the selling price per Tonne
(in X thousands) respectively. In accordance with the tables I and II, answer the questions
that follow (Questions 31 - 35) :
I : Production Yearwise (in Tonnes) Il : Selling Price

(in < thousands)

Product — Price Per
Voo P Q R S Product iy

2010 45 99 7H 115 2 T9
2011 25 41 93 158 Q T4
2012 40 108 107 166 R T 13
2013 38 60 63 139 5 T3
2014 76 41 132 88

2015 56 70 120 97

Where,-
Stability of production of a given product during 2010-2015

Average Production

~ Maximum Production — Minimum Production

and Revenue (in X thousands) from selling a product
= Production of a ProductX Selling Price

Sub questions

Question Number : 31 Question Id ;: 91394311639 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :
In which year, the annual growth rate of production (of all the products together) is
highest ?

Options :

2011
91394345721,

2012
91394345722

2014
91394345723,

2015
91394345724,

Question Number : 32 Question Id ;: 91394311640 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : Ne Option Orientation ;: Vertical

Correct Marks : 2 Wrong Marks : 0
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What is the stability of the production of P during 2010 - 2015 ?

Onptions :

91394345725.

91394345726.

1.43
91394345727,

1.63
91394345728,

Question Number : 33 Question Id : 91394311641 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
In which year, the total revenue of all the four products is lowest ?

Options :

2011
91394345729,

91394345730.

91394345731.

91394345732,

Question Number : 34 Question Id : 91394311642 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the products P, Q, R and S fetches the lowest revenue ?

Options :

91394245733 P

Q

91394345734,

91394345735.

91294345726,
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Question Number : 35 Question Id : 91394311643 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following statements is true ?

Options :

Product R fetches second highest revenue across products in the year 2011.
91394345737,

Sum of revenue of P, Q and S is more than the revenue of R in the year 2014.
91394345738

Sisaents Cumulative revenue of P and Q is more than the revenue of S in the year 2013.

. Sum of revenue of P, Q, and S is more than the revenue of R in the year 2012.
91394345740,

Question Id : 91394311638 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions ;: No

Question Numbers : (31 to 35)
Question Label : CDmpI'EhEHSiGH

fr=ifera ) arforT (13RI R fa=mr & S =R 3@R) P, Q, R, S &1 a8 2010-2015 % SRH IEH
(TTH) oI sFwen: fd 27 foskd ed (IR ) <wiehl €1 WROM [ SR I % STgER frifend gl
(Y9131 W 35) HIFTHT ;

] : IR S (27 H) I1: foshd 49 (FSIRT H)
7
P Q R S I
gfg 24

2010 | 45 99 75 115 P F9
2011 | 25 41 93 158 Q T4
2012 40 108 107 166 R F13
2013 [ 38 60 63 139 S Z3
2014 | 76 41 132 88
2015 | 56 70 120 97

Y 2010-2015 F SR fordl feu U 3R & IqET H R

3 ITEA

- HARTH AT — <[ATH STRA

3R ot Scare At fopt U oI o1 (SIRT H)

= ferdl IS o1 I x fashd e

Sub questions

Question Number : 31 Question Id ;: 91394311639 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical
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Correct Marks : 2 Wrong Marks : 0

fore gd T Sameq ([l SR 1 T |WiY) H aifE gfa X IT9qq 872

Options :

2011
91394345721,

2012
91394345722

2014
91394345723,

2015

91394345724.

Question Number : 32 Question Id : 91394311640 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
a4 2010 - 2015 % IRA P % IARA i TR 1 872

Options :

91394345725.

91394345726.

1.43
91394345727,

1.63
91394345728,

Question Number : 33 Question Id : 91394311641 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
i IR 3URI | U Fa 37 fobd 96 H ~AaH B2

Options :

2011
91394345729,

2012

91394345730.

2013

91394345731.
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2010
91394345732,

Question Number : 34 Question Id ; 91394311642 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Optiun Orientation : Vertical

Correct Marks : 2 Wrong Marks ;

P, Q,Rai’ﬂsﬁﬁmm@rwmﬁmm%)

Options :

P

91394345733.

Q

91394245724.

91394345735.
91394345736.

Question Number : 35 Question Id : 91394311643 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Optinn Orientation : Vertical

Correct Marks : 2 Wrong Marks :

ﬁmﬁﬁﬁqmwu@%?

a9 2011 H 9+t 3R § ¥ AR R ¥ I 1 TR a9 AT 2 |

91394345737,

a4 2014 § P, Q 3RS ¥ W e 39 &1 4 R ¥ W 3T 9 SAHF 2|

91394245738.

a6 2013 H P 3IRQ ¥ I 1 A S | I 3 9 3 ¥

91394345739,

a4 2012 H P, Q 3RS § U el 39 R | U 371 § 314 7|

91394345740,

Sub-Section Number: 5
Sub-Section Id: 913943589
Question Shuffling Allowed : Yes

Question Number : 36 Question Id : 91394311644 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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A virus hoax is an untrue virus warning email. When you receive a virus hoax such as the
one below, what is the appropriate action ?

Subject : Warning!

A new Virus has been detected in your computer. Format your hard disk and re-install all
softwares immediately.

Options :

Ignore this email

91394345741

Reply to the sender

91394345742

e ‘AT i - i T : 18
SRS Forward this email to your friends

Format your hard disk and re-install all software immediately
91394345744,

Question Number : 36 Question Id : 91394311644 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :
e ' ATy Be’ SR o e g Yerl a9 3HA © 1 ST 3MT9e! fIETER Ue Aty e
T 2 © o 3ferd e o ordl ?

fawg : =aEHT !
3T e H TF T IRRY 1 Ul 9al g | 3T 21E f&teh 1 aonta wife 3 o) Teff Gieerr
1 T-3L2TA &1 |

Options :
=g ZHA Pl ST Ll
91394345741,
91394345742, Yo i A Al
SisgisEyas [l Rl % W STITHd el
S SSASAE deehTed 3791 BTe feteh wiHe AT 3R It GiRaR &l {-3%id &l

Question Number : 37 Question Id : 91394311645 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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There are two sets given below. Set - I specifies the IT related acronyms, while Set - 11
indicates their meanings. Match the two and give your answer by selecting the appropriate

code.
Set - 1 Set - 11
(Acronyms) (Meanings)
(a) DPI (1) Measures resolution of a laser printer
(b) CRT (i) An example of read-only storage
(c) NIC (i) A type of computer monitor
(d) CD-ROM (iv) Enables a computer to connect to other computers
Code :
Options :

91394345745, @) @v) () @)
91394345746, @© @) (@@ @
i) () (iv) (D)
(i) (@ @v) @

9139432345747,
91394345748,

Question Number : 37 Question Id : 91394311645 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
T IR KT T | wg -1 H oM. . ¥ i eg-We € Wi WHE - I1 § 3% 319 ¥ 1 S
TR T YA L SR Srad %e FT 97 H gU ST S |

g - 1 g - 1
(TTeE-HeT) (31ed)

(a) ELULITE. () T oeR fHeX S REIRH i oY a2

(b) HILIAXIL (i) {S-AF LS & T ]

(c) TA.3TE.HL (iii) Weh YRR 1 I HiHIR

d) -\ (iv) U HR ] TR FeX A TS T Heg HL 2|

he
(@ (b) (c) (d)

Options :

91394345745, (@) (v) (i) (1)
01394345745, 1 (V) (i) - (iD)

© @) (v) (i)

9139432345747,
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91394345748,

Question Number : 38 Question Id : 91394311646 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which of the following statement(s) regarding the term ICT is/are True ?

P : ICT is the abbreviation of Information and Collaboration Technology, meaning
technology related to information and collaboration, such as computers and the
Internet.
Q = The gap between people with effective access to ICT and those with very limited
or no access at all, is termed as digital divide.
Options :
P only
913943457489,
Q only
91394345750.
P and Q
91394345751,
Neither P nor Q
91394345752,

Question Number : 38 Question Id : 91394311646 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

... ve % aR H FrAifora § § 1 @1 %o w8 3/ 7

P SR, g1 IR gfaur snenfia Wit o Yea-Ga €, i g iR wfasnfi

Q : R aF YEl 9 9t @l TR ST Wi S1UaT Y g el |l o st
HAqe =1 fefsea feame w1 S 81

Options :

91394345749, fa P

91394345750, s Q

91394345751, R Q

AAPARAETQ

91394345752.
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Question Number : 39 Question Id : 91394311647 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The computer software that runs a computer, including scheduling tasks, managing storage
and handling communication with peripherals is called :

Options :

Device Driver
91394345753,

Application Suite
91394345754,

Operatine System
91394345755. P S

Bluetooth Technology

91394345756.

Question Number : 39 Question Id : 91394311647 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
FH 1 T Tl hgel Wigery, e il i STgg=! oM, HSR0 FeitH 3R a9 &
1 YN G I §, 31 HgArdl ¢ 2

Options :
91394345?53"ﬁEEﬂglq'ggﬁﬁi{
91394345754, EWT:[ ggz
91394345755. m fﬂ?&'ﬁf
29 UrNfiTeht

91394345756,

Question Number : 40 Question Id ;: 91394311648 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :
The following list indicates different types of computer file formats. Which of them is devoted
exclusively to graphic file formats ?

Options :

GIF, JPEG, DOC

91394345757,

PNG, GIF, JPEG

91294245758,
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JPEG, TIFF, HTML

913394345758,

o1394345760. TLPF, ALS, PNG

Question Number : 40 Question Id : 91394311648 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
frifera gt 3 fafas WoR & Hopet wea Wi fgu T ¥ f=ifea § 4 R qola: Tiees wea
witfe % faw gofda &2

Options :

S 3TE. U, SLULE. ST, €L,

91394345757.

WA S, ST ST U, oL 9.3 S .

91394345758.

U2 ST, 3 STR. .U, U9, UH. U

913943457589,

2. 378, U, U, U, U, TH., .. 5.

91394345760.

Question Number : 41 Question Id : 91394311649 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line (Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Following are two sets of items. Set - I lists different types of wastes, while Set - II indicates
methods of their disposal. Match the two sets and give your answer from the code given

below :
Set-1 Set - IT

(Types of Waste) (Methods of Disposal)
(a) Dry waste (i) By composting
(b) Wet waste (i) By burying in landfills
(c) Toxic waste (iii) By dropping them in corporation bins
(d) Soiled waste (iv) By recycling
Code :

@ B (@ (d
Options :
91394345761, G W lm )

91394345762, (IV) (1) (ll) (lll)
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@) () (iv) ()

91394345763.

(i) (v) (@) (1)

91394345764,

Question Number : 41 Question Id : 91394311649 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
= 7el % < | R S wgg - 13 A weR % i ¥, Steifd wyg - 11§ 376 earen
Frfereft < 7 §1 ST TR o e Rt iR A fow T e @ W IR E -

el g - 1I
(TR T ) (ForeereoT =t farferert )
G T ST (i) SoF TE N
(b) TN A (i) STHHH TRA & g
o (i) TR 3 e H T g
(d) Wi e (v) T BN
e
(@) (b) (¢) (d)
Options :
91394345761, 1) @) (@) ()

@) (i)

91394345762, (IV) (1)

(i) () (v) ()

91394345763,

(i) (v) @) (1)

91394345764,

Question Number : 42 Question Id : 91394311650 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

For ensuring sustainability in the quality ethos of the university environment which of the
following would be considered high priority skill for a vice-chancellor ?

Options :

I — Financial Management Skill

Administrative Skill

91394345766,
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| Technical Management Skill
91394345767,

| Human Resource Management Skill
91394345768

Question Number : 42 Question Id : 91394311650 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation ;: Vertical

Correct Marks ;: 2 Wrong Marks ;
farsafasmea afiaw # ue &t S5fd 1 FHeaa gHadeEd w1 & fau f=ifed § 9 o0 @
Fqfd 1 =5 NATHFHAT HIvred HHT ST ?

Options :
ot geieM R

91394345765,

YIS IR

91394345766,

GERIEIR ELEREANT

91394345767,

Y SHYE YL il
91294245768,

Question Number : 43 Question Id : 91394311651 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The purposes underlying the Renewable Energy Education programmes are :

Options :

' ative and mvesticative
S Educative and investigativ

Diagnostic and evaluative
91394345770,

Corrective and predictive
91394345771,

Preventive and ameliorative
91394345772,

Question Number : 43 Question Id : 91394311651 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option ;: No Optinn Orientation : Vertical

Correct Marks : 2 Wrong Marks :

vt Y

Options :
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EHIEEC (R (ICRIREC?
91394345770,

91394345771, w ¥ ‘3:?[{ m
TR IR guReH

91394345769

91394345772

Question Number : 44 Question Id : 91394311652 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Yertical

Correct Marks : 2 Wrong Marks : 0

For an effective organisational climate within a university system, which of the following
measures will be most appropriate ?

Options :

Creating an equilibrium between driving forces and restraining forces.
91394345773,

Increasing the power of driving forces and decreasing the power of restraining forces.
91394345774,

| Decreasing the power of restraining forces without caring about the driving forces.
91394345775, -

Increasing the power of driving forces without caring about the restraining forces.
91394345776, -

Question Number : 44 Question Id : 91394311652 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

fordt favafaamer 93 & R Tk qaEt 913w ufiiaw & fau f=ifea § 9 9959 91 U™
Haifees qgad a1 ?

- _ ek ol SR STERIES el o sd o haH HE |

91394345773

I el i AR ST ST SFeIeh Sl i Al e

91394345774

_Waﬁﬁmmaﬁrmﬂwaﬁﬁmﬁawm

91394345775

_mﬁwﬁﬁmfwaﬁwaﬁﬁmﬁaml

91394345776

Question Number : 45 Question Id : 91394311653 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Below are given a number of roles and functions at the government/non-government level
indicating the specific responsibilities of the Ministry of Drinking Water and Sanitation. Identify
those statements which indicate the areas of responsibility of this ministry. Select from the
code to give your answer :

(a) Overall policy and planning in respect of programmes of drinking water and sanitation.
(b) Funding in respect of the programmes listed in (a).

(c) Coordination of programmes floated.

(d) Supply of food grains at reasonable price to the consumers.

(e) Achieving the goal of zero hunger.

(f) Implementation of Swachh Bharat Abhiyan in rural India.

(g) Monitoring of prices and availability of essential commodities.

Code :

Options :

01394345777 (&) (B), (), and (g)

91394345778, (a)’ (b)’ (d) and (e)

(), (b), (c) and (f)

9133943457783.

(a), (c), (d) and (e)

91394345750.

Question Number : 45 Question Id : 91394311653 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks ; 0

= YISt IR E=sdl T o fafirse STRerfawai 1 S9id g R/ TR-T3&r TR W3S
firerrdl 3iR el fou T €1 39 FuEl Bt TEAE B Sl 3H WA o IAEITId i <uiid & | R
FEH Y A W A ¢

(a) Ul iR Tor=sar deiet SRkl o1 vy Aifa-fuior SR R

b) (a) ¥ afid srisHdl =1 fa= dmo

¢) TR T HRIHH H THI

(
(
(d) U <l 3fed HiHd W @EE S HAYfd
(
(

e) U1 YA o & hl Ud HEAl

f) |G o ATHIOT Sl H e WA SATHAM bl AR 6T
() STavTeh aEgall i STl ST HIHAl bl FREA

[ T

Options :

91394345777, (a), (b), (c) 3R (8)

QQ
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(a), (b), (d) 3R (e)

91394345778.

(@), (b), (c) 3R (£)

91394345779,

(a), (), (d) ¥R (e)

91394345780,

Question Number : 46 Question Id : 91394311654 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following statements are correct about Indira Gandhi National Open University
(IGNOU) ? To indicate your answer, select from the code given below :

(@) Itis an autonomous organisation.
(b) Itis devoted to promotion of open and distance education system.
() It conducts assessment and accredits the State Open Universities.

(d) It has jurisdiction in respect of Open and Distance learning system in India and to the
study centres outside India.

Code :

Options :

(a) and (b)

91394345781.

91394345732, (b) Fngl (d)

(c) and (d)

91394345783.

(d) and (a)

91394345784,

Question Number : 46 Question Id : 91394311654 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Yertical

Correct Marks : 2 Wrong Marks : 0

gfen Tieh T go fagafoame™ (379) S IR A i T A dI A weA a@ 22 R §

AT SWC -

(a) € T WEAYRT G ¢

(b) IT Yo 3R Y e gurreht % HagA & fae gafda 2

() 9% Al o o forgafaeneri s gedich $iR Y & ¢ |

(d) 9Ra Y To 3R TR I Jomell 3R 9T & 9K % Sk ST g THE Sy o
3 2|

e

Options :
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(a) 3T (b)

91394245781,

(b) 3R (d)

91394345732,

(c) ¥R (d)

91394345783.

(d) 3T (a)

91394345734.

Question Number : 47 Question Id : 91394311655 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The leadership and executive role in higher education system in respect of state universities
of India is assigned to :

Options :

01394345785 Chancellor of the University

ihine Vice-Chancellor of the University

+ i - :
0139434575, Leans of Faculties

91394345788, Dean of Studies

Question Number : 47 Question Id ;: 91394311655 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks ;
aRd H T o favafarmeral 5 s=a fien yonel # Sgems oiR Friaras gt fed < ®2

Options :

Toreaformera o Fenteafa

91394345785

Taeaforene™ & Fedfd

91394345786

Yk qqE

91394245787,

_aqmq%srga

91394345788
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Question Number : 48 Question Id : 91394311656 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The formal authority for approving the University level courses vests in :

Options :

01394345755 The Academic Council

The University Court

91394345790.

The Executive Council
913943245791,

The Research Degree Committee
91394345792,

Question Number : 48 Question Id : 91394311656 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

forvafaemer wdy Tgushl & 31gHIed & fau sig=niies wiHen @

Options :

912394245789, '“*
favafaenaa e

91394345790.

91394345791, a'TRj =
Y 3Iumfer wibfa

913394345792,

Question Number : 49 Question Id ;: 91394311657 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : Ne Option Orientation ;: Vertical

Correct Marks ;: 2 Wrong Marks ;
For promoting human values through College/University programmes which one of the
following leadership styles would be the most appropriate ?

Options :

S Directive Leadership Style

Participative Leadership Style

91394345794,

Consultative Leadership Style
91394345795.
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Ty Delegating Leadership Style

Question Number : 49 Question Id ; 91394311657 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :
forenera/ fovafaamer wriFgl & Moy § oFER g & dadq & foau f=ifea d § o ) 9@
et Faieeh ST el 2

91394345793

_qﬁrmaﬂurﬁaﬁgaﬁ?fﬁ

91394345794

_mfaqmﬁqa‘?reffr

91394345795

_w@aﬂmﬁwﬁ?ﬁ

91394345796

Question Number : 50 Question Id : 91394311658 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
A post-graduate degree holder student with 55% marks intends to pursue research for the

award of Ph.D. degree. What will be the formal requirements in this regard ? To indicate
your correct answer choose from the code given below :

(a) Appearing in an admission test of a university

(b) Attending a coaching institute

(c) Consulting an expert teacher

(d) Submitting an application for enrollment

(e) Submitting a proposal for the research

(f)  Discussing the research proposal with a peer group

(g) Getting the opinion of the experts on the research theme

(h) Getting the proposal approved by the relevant body of the university

(i) Attending mandatory course work
Code :

Options :

91394345797, (@), (d), (), (h) and (i)
s1394345798, (L) (€), () and (i)

91394345799 (©), (e), (g) and (h)
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Question Number : 30 Question Id : 91394311658 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

55% 3] ATl Teh HAhIR 34101 B 91U Sl STy 9T ¢ & fau sy <31 9l &1 59

fee sira=nfier sTrerearerard o1 2 2 e R W e § 9 9 S T

(a) Torelt Tovafommerd st i aden | SIS
(b) Tk I HEIH H S

() T faRe feeh 9 Felig o

(d) TR o feTT SeRT TR HEA

(e) MY & AT YEaTd Y& T

() TH IS AT F WY e YXe W = Bl

(g) oY % foma W fasioi =6t T o

(h) Tevafamea & 970 R g0 9@ &1 FAFHIRT HIAT

(i) A TSTHH HTE H I T

Options :

@), (d), (), () 3T (i)

91394345797.

91394345798, (b), (c), (B 3R @)
(©) (&), (g) 3 ()

91394345799,

~(d), (B, (h) 3R (Q)

91394345500
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Break time: 0
Group Marks: 200

o8 Blectronic science

Section Id : 013943154

Section Number : 1

Section type : Online

Mandatory or Optional: Mandatory

Number of Questions: 96

Number of Questions to be attempted: 96

Section Marks: 200

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 913943590
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 91394311659 Question Type : MC(Q) Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

A transistor with B = 100 is to be used in the emitter feedback bias
configuration. If R, = 2kQ, R, = 370 kQ the stability factor is

Options :
91394345801, |
91394345802, 1 °7
91394345803, °°
91394345804, 20

Question Number : 51 Question Id : 91394311659 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

A transistor with § = 100 is to be used in the emitter feedback bias
configuration. If R, = 2kQ, R, = 370 kQ the stability factor is

Options :

91394345801. 1

91394345802 17
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91394345803. i

91394345804, 520

Question Number : 52 Question Id : 91394311660 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

An exact position of Fermi level in an n-type semiconductor is

Options :

N

EC —-kTIn —_C

91394345805, Np
N

Eq+kTin N—C

91394345806, D
N + N

Eg+ b? = D
91394345807, CHD

Eg-KTin =€

91394345808, Vv

Question Number : 52 Question Id : 91394311660 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

An exact position of Fermi level in an n-type semiconductor is

Options :
N
EC —-kTIn —_C
91394345805, Np
E.+kTin =%
C Bl
91394345806, D
N + N
Eg+ NC = D
91394345807, C*D
N
91394345808, Vv

Question Number : 53 Question Id : 91394311661 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct Marks : 2 Wrong Marks : 0

: 2
The Fourier transform of the signal x(t) = ™2, a > 0 will be

Options :
=
‘_L e 4a
91394345809, ' ¢
_ {:}2
‘/E e 2&2‘
91394345810, VA&
— @
T e 4da
91394345811, ' 2
~ _o®
— e 2a
®
91394345812

Question Number : 33 Question Id : 91394311661 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The Fourier transform of the signal x(t) = e‘atz, a > 0 will be

Options :
9
— _o"
L e 4a
91394345800, ¢
JE e 2&2
91394345810. a
— o
T e 4da
91394345811, ' 2
~ _o®
— e 2a
@
91394345812

Question Number : 54 Question Id : 91394311662 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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If x(t) = et u(t) and y(t) = 3t u(t), then y(t) + x(t) will be
Options :

4 8ty ..
91394345813 (& — € Jult)

ult)

2

91394345514.

91394345515. "'

91394345516.

Question Number : 54 Question Id : 91394311662 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

If x(t) = et u(t) and y(t) = e 3t u(t), then y(t) * x(t) will be

Options :

4 8ty ..
91394345813 (& — € Jult)

ult)

2

91394345514.

91394345515. "'

91394345516.

Question Number : 55 Question Id : 91394311663 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

If density of states in conduction band and density of states in valence band are not equal,
then the Fermi level in intrinsic semiconductor is

Options :

EC +EV

91394345817, 2
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EC-EV + NC -E-NV

91394345818. - -
EC + EV _ kT l?l NC
2 2 " Ny
91394345819.
Eqr+E KT. N
C M. & In —C
2 2 " Ny
91394345820.

Question Number : 353 Question Id : 91394311663 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

If density of states in conduction band and density of states in valence band are not equal,
then the Fermi level in intrinsic semiconductor is

Options :
EC + EV
91394345817, 2
EC -EV + NC -E-NV
913942345818, 2 2
EC -+ EV le NC
- n
2 = N+
9139434581%.
Ec+E ET. N
G V. ¥ In —C
2 2 Ny
913942345820,

Question Number : 56 Question Id ;: 91394311664 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :

In an n-p-n transistor operating in saturated mode, the output voltage
Vg is
Options :

Greater than QVBE
912394345821

Between 2V, and Vor
912394245822, BE BE

Less than VBE
91394345823,
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Equal to Vgp
91594345824.

Question Number : 36 Question Id : 91394311664 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
In an n-p-n transistor operating in saturated mode, the output voltage
Vo is

Options :

Greater than QVBE
91294345821.

Between 2Vow and Vor
91294245822, B BE:

Less than VBE
91394345823,

Equal to Vgg
91394345824.

Question Number : 57 Question Id ;: 91394311665 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :
For equation of continuity which of the following is frue (for steady state currents) ?

Options :

91394345825, ¥ ° J=0

91394345826, ¥ ° J=-2
91394345827 ¥ - J=1

91394345828, " - J=e

Question Number : 57 Question Id : 91394311665 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
For equation of continuity which of the following is true (for steady state currents) ?
Options :

91394345825, ¥ ° J=0
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Question Number : 58 Question Id : 91394311666 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

The junction capacitance of a thyristor in the state of reverse blocking is

20 pF. For a charging current of 5 mA, the value of W capability of

thyristor to make it ON is

Options :

9129432458283,

91394345530.

91394345831.

91394345832.

225 V/us

200 V/us

250 V/us

500 V/us

Question Number : 58 Question Id : 91394311666 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

The junction capacitance of a thyristor in the state of reverse blocking is

20 pF. For a charging current of 5 mA, the value of = capability of

thyristor to make it ON is

Options :

91394345529.

91394345530.

91394345831.

91394345832.

295 V/us

200 V/us

250 V/us

500 V/us
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Question Number : 59 Question Id : 91394311667 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

Which of the following functions implements the Karnaugh map shown

below ? X being don't care condition.

AB
CD 00 01 11 10
00 0 0 1 ;
11 0 1 1 ;
10 0 1 N 5
Options :
91394345833, &5 T (D
91394345834 D (C+4)
91394345835, D T AB

91294345836 (C+D)(C +D)(A+B)

Question Number : 59 Question Id : 91394311667 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

Which of the following functions implements the Karnaugh map shown

below ? "X being don't care condition.

AB
cD 00 01 11 10
00 0 0 i) 0
01 X X 1 X
11 0 1 1 0
10 0 1 1 0
Options :
91394345833, AB+CD
D(C+A)

91394345824.
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91394345835. AD+AB

91394345936 (C+D)(C +D)(A+B)

Question Number : 60 Question Id ;: 91394311668 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : Ne Option Orientation ;: Vertical

Correct Marks ;: 2 Wrong Marks ;
Consider the logic circuit shown in the figure below, the function f;, f, and

f (in canonical sum of products form in decimal notation) are

o
1)

D

fa

fi(w.x,y,2)=2(8,9,10)
f,(w,x,y,2)=X(7,8,12,13, 14, 15)

W5 5.2)=F4(8.9)

The function f3 is
Options :

913943453837 24310

9)
91394345838 20

91394345839, > ‘1, & 9)

91394345840, > (85 10, 18)

Question Number : 60 Question Id : 91394311668 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Consider the logic circuit shown in the figure below, the function f;, f, and

f (in canonical sum of products form in decimal notation) are

; —
f2 -

D

f3

fi(w,x,y,2) =X (8,9, 10)
£, (w,%,y,2) =X(7,8, 12,13, 14, 15)

f(w,x,y,2)=2(8,9)

The function f3 is
Options :

91394345837 2.(9,10)

9)
91394345838 2

91394345839. x(1,8,9)

91394345840, > & 10,18)

Question Number : 61 Question Id : 91394311669 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

RAL is an example of

Options :

Immediate Addressing mode
913942345841.

Implicit Addressing mode
91394345842,

Register Indirect Addressing mode
91394345843, =

Register Addressing mode
91394345844, &
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Question Number : 61 Question Id : 91394311669 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

RAL is an example of

Options :

Immediate Addressing mode
91394345841.

Implicit Addressing mode
91394345842,

Register Indirect Addressing mode
91394345843, J

Register Addressing mode
91394345844, i

Question Number : 62 Question Id : 91394311670 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Two machine codes SEH and 32H are stored in memory locations 2000H and 2001H
respectively. The first machine code (3EH) represents the opcode to load a data byte in the
accumulator, and the second code (32H) represents the data byte to be loaded in the
accumulator. The time required to execute the Opcode Fetch and the Memory Read Cycles
and the entire instruction cycle is, (if clock frequency is 2 MHz).

Options :

91394345845, 50 MS

91394345846, O ° TS

91394345847 1O M8

91394345548, 02 MS

Question Number : 62 Question Id : 91394311670 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Two machine codes 3EH and 32H are stored in memory locations 2000H and 2001H
respectively. The first machine code (3EH) represents the opcode to load a data byte in the
accumulator, and the second code (32H) represents the data byte to be loaded in the
accumulator. The time required to execute the Opcode Fetch and the Memory Read Cycles
and the entire instruction cycle is, (if clock frequency is 2 MHz).

Options :

91394345845, 50 M8
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91394345846, O ° WS

91394345847 1O M8

91394345548, 02 MS

Question Number : 63 Question Id : 91394311671 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
The output of the program

main ()
{
mits =1:
{
{
{
printf{“\n%d”, i);
}
printf{“%d”, i);
I
printf(“%d”, i);
i
}
1S
Options :
9139423458443, 1
91394345850. 1
91394345851, 111
913894345852, 8

Question Number : 63 Question Id : 91394311671 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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The output of the program
main ( )
{
mti=1;

{

printf“\n%d”, i);
}
printf{(“%d”, i);
I
printf(“%d”, 1);

1S
Options :

913294345844,

91394345850. 1

91394345857, 111

91394345852,

Question Number : 64 Question Id ;: 91394311672 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks ;
What is the output of the statement ?

int x, y;

scanf (“%d”, &x);

y=(x>573:4)
Options :

This statement will store 3 in y if x is greater than 5, otherwise it will store 4 in y.
91394345853.

This statement will store 4 in y if x is greater than 5, otherwise it will store 3 in y.
91394345854.
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This statement will store 3 in y if x is smaller than 5, otherwise it will store 4 in y.
913943458EE.

This statement will store 4 in y if x is smaller than 5, otherwise it will store 3 in y.
91394345856.

Question Number : 64 Question Id : 91394311672 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation ;: Vertical

Correct Marks ;: 2 Wrong Marks ;
What is the output of the statement ?

int X, y;

scanf (“%d”, &x);

y={x>573:4);
Options :

This statement will store 3 in y if x is greater than 5, otherwise it will store 4 in y.
91394345853,

This statement will store 4 in y if x is greater than 5, otherwise it will store 3 in y.
91394345854,

This statement will store 3 in y if x is smaller than 5, otherwise it will store 4 in y.
91394345855.

This statement will store 4 in y if x is smaller than 5, otherwise it will store 3 in y.
91394345856.

Question Number : 65 Question Id ;: 91394311673 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :

The positive RF peaks of an amplitude modulated voltage rise to a maximum value of 12 V
and drop to a minimum value of 4 V. The modulating index (m_) assuming single tone

modulation is

Options :

91394345357.

91394345858,

e | =

91394345859.

D | =

91394345560.
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Question Number : 65 Question Id : 91394311673 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

The positive RF peaks of an amplitude modulated voltage rise to a maximum value of 12 V
and drop to a minimum value of 4 V. The modulating index (m_) assuming single tone

modulation is

Options :

91394345857,

913943458658.

| =

91394345859,

DD | =

913943453860.

Question Number : 66 Question Id : 91394311674 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The plot of modulating index versus carrier amplitude yields a

Options :

91394345861 Tiomzontal line

91394345562, ' erteal line

91394345363, ' 2rabola

Hyperbola
91394345864, Ly

Question Number : 66 Question Id ; 91394311674 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :
The plot of modulating index versus carrier amplitude yields a

Options :

91394345861, Tiomzontal line

91394345562, ' erteal line
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91394345363, 2rabola

Hyperbola
91394345864, 2Ee

Question Number : 67 Question Id ;: 91394311675 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : Ne Option Orientation ;: Vertical

Correct Marks ;: 2 Wrong Marks ;

If ‘o’ is the duty cycle, the output of the following circuit is given by

+o0 n5EE > aI

Vi T, =C Ry, Vo
o
— O L O
Options :
V. ., =aV.
91394345865,  °%t B
vV Vin
out =
91394345366, l+a
1
v1:11:11: = E : Vi.n
91394345867,
\¥ _ Vi]l
out = 1=
91394345863, o

Question Number : 67 Question Id ; 91394311675 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :

If ‘o’ is the duty cycle, the output of the following circuit is given by

L D

+o0 5EH > QI

=
e
[
L1
™~
1|
/1
]
=

Options :
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V. ., =0aoV.
91394345865,  °%t =

V.
V .= —F

out
91394345366, l1+a

Vv

1
91394345867,

n

vV - Vi]l

out
91394345868, 1-@

Question Number : 68 Question Id : 91394311676 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In a single mode fiber, the power received is 1% that of the transmitted power. The
attenuation of a single mode fiber is of the order of

Options :

91394345869, 10 d4Bm
91394345870, 20 dBm
91394345871, o0 dBm
91394345872, 2 4BM

Question Number : 68§ Question Id : 91394311676 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation ;: Vertical

Correct Marks ;: 2 Wrong Marks ;

In a single mode fiber, the power received is 1% that of the transmitted power. The
attenuation of a single mode fiber is of the order of

Options :

91394345869, L0 dBm

91394345870, 20 d4Bm

91394345871, S0 dBm
— 2 dBm

9139434587 2.
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Question Number : 69 Question Id : 91394311677 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which of the following is nof correct in respect of a phase-lead compensation network ?

Options :

It increases system bandwidth
91394345873,

It increases gain at higher frequencies
91394345874, & 5 e

It is used when fast transient response is required
91394345875, el

It is used when phase decreases rapidly near crossover frequen
91394345876, & B S

Question Number : 69 Question Id : 91394311677 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following is not correct in respect of a phase-lead compensation network ?

Options :

It increases system bandwidth
91394345873,

It increases gain at higher frequencies
91394345874, & & %

It is used when fast transient response is required
91394345875, =~

It is used when phase decreases rapidly near crossover frequen
91394345876, & S e

Question Number : 70 Question Id : 91394311678 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
A Hall-effect element is used for the measurement of magnetic field of

0-8 Wh/m2. The thickness of the element is 25 mm and is of bismuth
material. If the current passed through the element is 4A, then the Hall

emf developed will be : (Hall coefficient is 5 x 10~7)
Options ;

> —4
91394345877, LEX 10V

_ 4
91394345875 04 x 107V
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'y —7
91394345879 2 X107V

9 —4
91394345850, 52 X107V

Question Number : 70 Question Id : 91394311678 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

A Hall-effect element is used for the measurement of magnetic field of
0-8 Wh/m?2. The thickness of the element is 2-5 mm and is of bismuth
material. If the current passed through the element is 4A, then the Hall

emf developed will be : (Hall coefficient is 5 x 10~7)
Options :

. 4
91394345877 14x107°V

, .
91394345875 04 x 107V

) —7
91394345879 2 X107V

) —4
91394345850, 52 X107V

Sub-Section Number: 4
Sub-Section Id: 013943591
Question Shuffling Allowed : Yes

Question Number : 71 Question Id : 91394311679 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



www.prepp.in ’repp

Your Personal Exams Guide

The equivalent circuit of a tunnel diode shown below has the total input

impedance
o———— AN
Lg R
Zm — C'J pu— R
O
-R ! - oC R2
(1) R + ~| +j{oL_+ S
> 1+(mRCj)" : 1+(mRCj)
(ii) R, + oRC;
(i) —R .,
iii - + {oL_+
fs (1+@RCy) | = 1—(mRCj)2
oC R?
(iv) ol + ]

L %2 (chj)Z

Choose the correct answer from the code given below :

Code:

Options :

91394345851, O and (i) are correct

(i) is correct, but (iii) is wrong
91394345882,

(ii) is correct, but (i) is wrong
91394345883,

(iii) is correct, but (iv) is wrong
91394345884,

Question Number : 71 Question Id : 91394311679 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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The equivalent circuit of a tunnel diode shown below has the total input

impedance
o———— AN
Lg R
Zm — C'J pu— R
O
-R ! - oC R2
(1) R + ~| +j{oL_+ S
> 1+(mRCj)" : 1+(mRCj)
(ii) R, + oRC;
(i) —R .,
iii - + {oL_+
fs (1+@RCy) | = 1—(mRCj)2
oC R?
(iv) ol + ]

L %2 (chj)Z

Choose the correct answer from the code given below :

Code:

Options :

91394345851, O and (i) are correct

(i) is correct, but (iii) is wrong
91394345882,

(ii) is correct, but (i) is wrong
91394345883,

(iii) is correct, but (iv) is wrong
91394345884,

Question Number : 72 Question Id : 91394311680 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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The average value of the full wave rectified voltage shown below is

15V --==emo
ov -
—> time
(i) 75V
(ii) 9-55 V
(iii) 100V
(iv) 50V

Choose the correct answer from the code given below :

Code :
Options :
i) and (ii) are correct

91394345885, @ i

(ii) is correct, but (iv) is wrong
91394345886,

(i) is correct, but (iii) is wrong
91394345887,

(iii) is correct, but (ii) is wrong
91394345888.

Question Number : 72 Question Id : 91394311680 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The average value of the full wave rectified voltage shown below is

15V -=-==-=-
ov -
—> time
(i) 75V
(ii) 9-55 V
(iii) 100V
(iv) 50V

Choose the correct answer from the code given below :

Code :

Options :
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(i) and (ii) are correct

91394345885,

(ii) is correct, but (iv) is wrong
91394345886,

(i) is correct, but (iii) is wrong
91394345887,

(iii) is correct, but (ii) is wrong
91394345888.

Question Number : 73 Question Id : 91394311681 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :
Read the following statements regarding state variable analysis.
(i) A purely resistive network has no states at all.

(ii) A purely resistive network has more states than a reactive network.
(iii) Only a reactive network can have states.
(iv) A network with energy storing elements has no states at all.

Which of the above statements are correct ?
Choose the correct answer from the code given below :

Code:
Options :
91394345889, » and (i)
91394345800, ) and (V)
91394345891, ) and (i)
(ii) and (iv)
91394345892,

Question Number : 73 Question Id : 91394311681 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Read the following statements regarding state variable analysis.
(i) A purely resistive network has no states at all.
(i) A purely resistive network has more states than a reactive network.
(iii) Only a reactive network can have states.

(iv) A network with energy storing elements has no states at all.

Which of the above statements are correct ?
Choose the correct answer from the code given below :
Code:
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Options :

91394345859, O and (i)

91394345890, O and (V)

(ii) and (iii)
91394345891,

91394245892, {alyndl (%)

Question Number : 74 Question Id : 91394311682 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :
Read the following statements regarding a constant-k low pass filter.

1
i) Th t-off £ f the filterisf = ———
(i e cut-off frequency of the filter is f_ i
. il
(ii})  The cut-off frequency of the filteris f_ =
1 P ¢ aJLC

(iii) The phase shift in stopband is 7.
(iv) The phase shift in passband is 2x.

Which of the above statements are correct ?
Choose the correct answer from the code given below :

Code:

Options :

91394345893, O and (i)

- d - *
91394345504 O 2Rd (W)

(ii) and (iii)
91394345895,

91394345896, O and (V)

Question Number : 74 Question Id ;: 91394311682 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Read the following statements regarding a constant-k low pass filter.

(1) The cut-off frequency of the filter is f, = — 1LC
_l'.T['\[‘

1
a1 LC

(ii)  The cut-off frequency of the filteris f_ =

(iii) The phase shift in stopband is 7.
(iv) The phase shift in passband is 2x.

Which of the above statements are correct ?
Choose the correct answer from the code given below :

Code:

Options :

91394345893, O and (i)

91304345804 ) 2nd (V)

91394345895, O and (i)
(ii) and (iv)

91394345896,

Question Number : 75 Question Id : 91394311683 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



www.prepp.in ’repp

Your Personal Exams Guide

A basic equivalent circuit of a tunnel diode consists of series inductance
L_, the series resistance R_, the diode capacitance Cj and the negative

resistance — R. The reactive cut-off frequency is

® = -1

() =
CLgE I .
2n LSC] . (RCJ )2 2% RCJ
1 R 1 1 1
(iv) -1+ ¢
27RC; \}RS 2m JLSCJ- (RC;)?

Choose the correct answer from the code given below :

Code:

Options :

(i) is wrong but (ii) is correct
91394345897,

iii) and (iv) are correct

91394245898, (i) @)

(iv) is correct but (ii) is wrong
91394345899,

(iii) is correct but (iv) is wrong
91394345900,

Question Number : 75 Question Id : 91394311683 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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A basic equivalent circuit of a tunnel diode consists of series inductance
L_, the series resistance R_, the diode capacitance Cj and the negative

resistance — R. The reactive cut-off frequency is

® = -1

() =
CLgE I .
2n LSC] . (RCJ )2 2% RCJ
1 R 1 1 1
(iv) -1+ ¢
27RC; \}RS 2m JLSCJ- (RC;)?

Choose the correct answer from the code given below :

Code:

Options :

(i) is wrong but (ii) is correct
91394345897,

iii) and (iv) are correct

91394245898, (i) @)

(iv) is correct but (ii) is wrong
91394345899,

(iii) is correct but (iv) is wrong
91394345900,

Question Number : 76 Question Id : 91394311684 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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In a circuit shown below, the voltage at each drain terminal is

Vop
Rp Rp
VDI o' -1, ‘ ,L ® :}VDZ
= b |
o | Qq Qs | o
=2 —

— Vgg

(i) Vpp- Ef;D
@) Vpp+ -2

(iii) Vpp— IRp
(iv) Vpp+ IRp

Choose the correct answer from the code given below :
Code:

Options :

(i) is correct but (iv) is wrong
91394345901,

(ii) is correct but (iii) is wrong
91394345902,

(iv) is correct but (ii) is wrong
91394345903,

(iii) is correct but (i) is wrong
91394345904,

Question Number : 76 Question Id : 91394311684 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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In a circuit shown below, the voltage at each drain terminal is

Vop
Rp Rp
VDI o' -1, ‘ ,L ® :}VDZ
= b |
o | Qq Qs | o
=2 —

— Vgg

(i) Vpp- Ef;D
@) Vpp+ -2

(iii) Vpp— IRp
(iv) Vpp+ IRp

Choose the correct answer from the code given below :
Code:

Options :

(i) is correct but (iv) is wrong
91394345901,

(ii) is correct but (iii) is wrong
91394345902,

(iv) is correct but (ii) is wrong
91394345903,

(iii) is correct but (i) is wrong
91394345904,

Question Number : 77 Question Id : 91394311685 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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In which of the below mentioned logic families, the transistors operate between cut-off and

active (non-saturation) states ?

(i) Transistor-Transistor Logic (TTL)
(ii) Schottky TTL

(iii) Diode Transistor Logic (DTL)

(iv) Emitter Coupled Logic (ECL)

Choose the correct answer from the code given below :

Code:

Options :

913943453905.

9139424590%.

913943453907,

91394245908.

(i) and (iii) are correct

(ii) and (iii) are correct

(i) and (iv) are correct

(ii) and (iv) are correct

prepp

Your Personal Exams Guide

Question Number : 77 Question Id ;: 91394311685 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks ;

In which of the below mentioned logic families, the transistors operate between cut-off and

active (non-saturation) states ?

(i) Transistor-Transistor Logic (TTL)
(i) Schottky TTL

(iii) Diode Transistor Logic (DTL)

(iv) Emitter Coupled Logic (ECL)

Choose the correct answer from the code given below :

Code:

Options :

91394345305.

9139424590k,

91394245907,

913943453908.

(i) and (iii) are correct

(ii) and (iii) are correct

(i) and (iv) are correct

(ii) and (iv) are correct

Question Number : 78 Question Id : 91394311686 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
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Correct Marks : 2 Wrong Marks : 0
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Which of the following circuits are correct with reference to the inverter ?
- Vee

£2

V,

0
@ v —%

T Vee

() v —@

Rg

- Vpbp

%

(@i} Vy— V.

4{

{i‘i?} Vi |

Which of the above are correct ?

Choose the correct answer from the code given below :
Code:
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Options :

i), (ii), (iii) and (iv) are correct
913943245909, (0 18 Ll amk e

(1), (ii) and (iv) are correct
91394345910,

(1), (iii) and (iv) are correct
91394345911,

(ii), (iii) and (iv) are correct
91394345912,

Question Number : 78 Question Id : 91394311686 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Which of the following circuits are correct with reference to the inverter ?
- Vee

£2

V,

0
@ v —%

T Vee

() v —@

Rg

- Vpbp

%

(@i} Vy— V.

4{

{i‘i?} Vi |

Which of the above are correct ?

Choose the correct answer from the code given below :
Code:
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Options :

T
913942459083, s e

(1), (ii) and (iv) are correct
91394345910,

(1), (iii) and (iv) are correct
91394345911,

(ii), (iii) and (iv) are correct
91394345912,

Question Number : 79 Question Id : 91394311687 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
In minimum mode 8086 microprocessor
(i) all control signals are given by microprocessor chip itself

(i) the remaining components in the system are latches, transreceivers clock generator,
memory and I/0 devices

(iii) it has more than one microprocessor

(iv) facilities are provided for implementing allocation of global resources

Choose the correct answer from the code given below :
Code:

Options :

913942345913, () and (i) argiEe

(1), (iii) and (iv) are correct
91394345914,

(i) and (ii) are correct
91394345915,

91394345916, O 2nd (V) are correct

Question Number : 79 Question Id ;: 91394311687 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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In minimum mode 8086 microprocessor
(i) all control signals are given by microprocessor chip itself

(i) the remaining components in the system are latches, transreceivers clock generator,
memory and I/0 devices

(iii) it has more than one microprocessor

(iv) facilities are provided for implementing allocation of global resources

Choose the correct answer from the code given below :

Code:
Options :
(i) and (iii) are correct
91394345913,
(1), (iii) and (iv) are correct
91394345914,
i) and (ii) are correct
912394245915, @ (i)
(i) and (iv) are correct
91394345916,

Question Number : 80 Question Id : 91394311688 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :
In Register Indirect Addressing mode the offset address of data is in

(i) BX
(i) SI
(iii) DI
(iv) DX
Choose the correct answer from the code given below :
Code:
Options :
i) and (i ect
91394345917, ) and(iv) are corr
(1), (i) and (iii) are correct
91394345918,
(ii), (iii) and (iv) are correct
91394345919,
(1), (iii) and (iv) are correct
91394345920,

Question Number : 80 Question Id : 91394311688 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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In Register Indirect Addressing mode the offset address of data is in

(i) BX
(i) SI
(iii) DI
(iv) DX
Choose the correct answer from the code given below :
Code:
Options :
i) and (i ect
91394345917, O and (iv) are corr
(1), (i) and (iii) are correct
91394345918.
(ii), (iii) and (iv) are correct
91394345919.
i), (iii) and (iv) are correct
91394345920. (@), (i) )

Question Number : 81 Question Id : 91394311689 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
What is the output of this program ?

main ()
{
int s [5] [2] ={
{1234, 56},
{1212, 33},
{1434, 80},
{1312, 78}

inti, j;

for(i=0;i<=3;1i++)

{
printf (“\n");
for j=0;j<=1;j++)
printf (“%d”, *(*(s +1i) +j));
}

Options :
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91394345921.

91394345922.

91394345925.

91394345924,

1234 56
1212 33
1434 80
1312 78

1235 57
1213 34
1435 81
1313 79

1312 78
1434 80
1212 33
1234 56

1212 33
1234 56
1312 78
1434 80

prepp

Your Personal Exams Guide

Question Number : 81 Question Id : 91394311689 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0
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What is the output of this program ?

main ( )
{
int s [3] [2] ={
{1234, 56},
{1212, 33},
{1434, 80},
11312, 78}
h
mt 1, j;
for(i=0;i<=3;i++)
{
printf (“\n”);

for (G=0;j<=1;j++)
printf (“%d”, *(*(s +1) +j));

Options :
1234 56
1212 33
1434 80

91394345921. 131278

1235 57
1213 34
1435 81

91394345922, 131379

1312 78
1434 80
1212 33

91394345923, 15308
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1212 33
1234 56
1312 78

91394345924, et

Question Number : 82 Question Id : 91394311690 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :

What will be the output of the program ?

main ( )
{
char s[ ] = “AWb what the heck™;

printf (“n%s”, s);
printf (“%s”, s[3]);

}

Options :

91394345995, AWbWhat the heck

91394345926, LWbWhat the Heckb

91394345927.

91394345998 AWbWhat the heckW

Question Number : 82 Question Id ;: 91394311690 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks ;

What will be the output of the program ?

main { )

{
char s[ ] = “AWDb what the heck™

printf ("n%s”, s);
printf (“%s”, s[3]);
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Options :

91394345995 AWbWhat the heck

91394345056 ~YWbWhat the heckb

91394345927.

91394345908, AWbWhat the heckW

Question Number : 83 Question Id ; 91394311691 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

For an optical fiber, following statements are given :

(i)  Propagation constant is dependent on wavelength
(ii) Propagation constant is independent of wavelength

2nC
A Ps

Gv) GVD=-2Z g,

e -

(iii) GVD= -

Which of the above statements are correct ?

Choose the correct answer from the code given below :
Code:

Options :

(ii) and (iii)
91394345920,

91394345930, O and (i)

(i) and (iv)
91394345931,

91394245932, (i) and fiv)

Question Number : 83 Question Id : 91394311691 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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For an optical fiber, following statements are given :
(i)  Propagation constant is dependent on wavelength

(ii) Propagation constant is independent of wavelength

G GVD= -2 g,

vy GVD=-22C g,

f b

Which of the above statements are correct ?

Choose the correct answer from the code given below :

Code :
Options :
91394345929, ) and (i)
91394345930, O and (i)
913094345031 ) and (V)
91394345932, ) and (V)

Question Number : 84 Question Id ; 91394311692 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :

For thyristor operation, following statements are given :

(i)  The supply voltage must be greater than the forward break over
voltage.

(ii) The supply voltage must be less than the forward break over
voltage.

(i) I atening < Thoiding
(V) Ipatehing > Iholding

Which of the above statements are correct ?

Choose the correct answer from the code given below :

Code:
Options :
91394345933, O and (i)
(ii) and (iv)

913943453934,
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91394345935, o and (i)

91394345936, O and (V)

Question Number : 84 Question Id ;: 91394311692 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : Ne Option Orientation ;: Vertical

Correct Marks ;: 2 Wrong Marks ;

For thyristor operation, following statements are given :

(i)  The supply voltage must be greater than the forward break over
voltage.

(ii) The supply voltage must be less than the forward break over
voltage.

(1) 1 atehing < Thording
(V) Ipatching > Iholding

Which of the above statements are correct ?

Choose the correct answer from the code given below :

Code :

Options :

91394345933, and (i)

91304345034 ) and ()

91394345935, ) and (i)
(i) and (iv)

913943459386,

Question Number : 85 Question Id : 91394311693 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :
Which of the following statements are correct with reference to superheterodyne receivers ?
(i) The main advantage of superheterodyne receiver is its better tracking
(ii) The main advantage of superheterodyne receiver is improvement in sensitivity
(ili) The image channel rejection in superheterodyne receiver comes from IF stages only

(iv) The image channel rejection in superheterodyne receiver comes from RF stage only
Choose the correct answer from the code given below :
Code:

Options :

913294345937, (1) and (ii) are correct
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(ii) and (iii) are correct

91394345938,

91394345939, O and (iv) are correct
(i) and (iv) are correct

91394345940,

Question Number : 85 Question Id : 91394311693 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which of the following statements are correct with reference to superheterodyne receivers ?
(i) The main advantage of superheterodyne receiver is its better tracking

(ii) The main advantage of superheterodyne receiver is improvement in sensitivity
(ili) The image channel rejection in superheterodyne receiver comes from IF stages only
(iv) The image channel rejection in superheterodyne receiver comes from RF stage only

Choose the correct answer from the code given below :

Code:
Options :
91394345937 (i) and (ii) are correct
(ii) and (iii) are correct
913943453938,
91394345939, () and (iv) are correct
9139423453940.

Question Number : 86 Question Id : 91394311694 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which of the following statements are correct w.r.t. the vestigial sideband modulation ?
(i) As compared to SSB-S¢, the bandwidth of vestigial sideband becomes larger
(i) The filter required needs to have a sharp cut-off

(iii) The transmitted vestige of the undesired sideband compensates the loss of
wanted sideband

(iv) Vestigial sideband is used in TV for transmission of the picture and sound signals

Choose the correct answer from the code given below :
Code:

Options :

(i) and (ii) are correct
91394545941,
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91394345942, ) and (iv) are correct

913943450943, () and (iiD) are correct

(iii) and (iv) are correct
91394345944,

Question Number : 86 Question Id : 91394311694 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which of the following statements are correct w.r.t. the vestigial sideband modulation ?
(i) Ascompared to SSB-Sc, the bandwidth of vestigial sideband becomes larger
(ii) The filter required needs to have a sharp cut-off

(iii) The transmitted vestige of the undesired sideband compensates the loss of
wanted sideband

(iv) Vestigial sideband is used in TV for transmission of the picture and sound signals
Choose the correct answer from the code given below :

Code:
Options :
91394345941, O and () are correct
91394345942, () and (v) are correct
(i) and (iii) are correct
91394345943,
91394345944, 1) and (v) are correct

Question Number : 87 Question Id : 91394311695 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :

A lossless air dielectric cylindrical waveguide of inside diameter 2 em is
operated at 10 GHz. For TM,; mode propagating in +z direction, following

has been evaluated :

(i)  Cut-off frequency = 9-148 GHz
(ii)  Cut-off frequency = 8-814 GHz
(iii) Wave impedance = 152:269 Q

(iv) Wave impedance = 15-26 Q

Which of the above statements are correct ?

Choose the correct answer from the code given below :
Code:
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Options :

91394345945, O and (i)

9139434594, O and (i)

(ii) and (iv)
913943453947,

91394245948, (D-and i)

Question Number : 87 Question Id : 91394311695 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :

A lossless air dielectric cylindrical waveguide of inside diameter 2 em is
operated at 10 GHz. For TM,; mode propagating in +z direction, following

has been evaluated :

(i)  Cut-off frequency = 9-148 GHz
(ii)  Cut-off frequency = 8-814 GHz
(iii) Wave impedance = 152:269 Q

(iv) Wave impedance = 15-26 Q

Which of the above statements are correct ?

Choose the correct answer from the code given below :

Code:
Options :
91394345945, * 2nd @)
(ii) and (iii)
91394345946,
91394345947, O and W)
91394345945, ) 2nd (W)

Question Number : 88 Question Id : 91394311696 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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In an optical coupler :
Throughput
power
> P
PD _—
Input «~— Py
power
a —F
—>P
«— P, <
Ret 1 Coupled
urn loss power

following statements are given

P

(1) Splitting ratio = ——=—x 100%
P]_ + Pg
. - . P
(1))  Splitting ratio = i 100%
2
(P
(ili) Return loss =10 log | ==
 Po
(iv) Return loss = 10 log HP—‘?’]
| \P1 + P

Which of the above statements are correct ?

Choose the correct answer from the code given below :

Code:
Options :

91304345040, ) and (i)

91394345950, O and (V)

P
91394345051, O 2nd ()

91394345952, ) and (i)

Question Number : 8§ Question Id ;: 91394311696 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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In an optical coupler :
Throughput
power
> P
PD _—
Input «~— Py
power
a —F
—>P
«— P, <
Ret 1 Coupled
urn loss power

following statements are given

P

(1) Splitting ratio = ——=—x 100%
P]_ + Pg
. - . P
(1))  Splitting ratio = i 100%
2
(P
(ili) Return loss =10 log | ==
 Po
(iv) Return loss = 10 log HP—‘?’]
| \P1 + P

Which of the above statements are correct ?

Choose the correct answer from the code given below :

Code:
Options :

91304345040, ) and (i)

91394345950, O and (V)

P
91394345051, O 2nd ()

91394345952, ) and (i)

Question Number : 89 Question Id ; 91394311697 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Read the following statements regarding the strain gauge transducer system.
(i) It has negligible loading effect on the primary transducer.

(ii) It has advantage of formation of push-pull systems for temperature compensation.
(iii) It has maximum loading effect on the primary transducer.

(iv) It has very large size and hence increases the size of primary elastic transducer.

Which of the above statements are correct ?
Choose the correct answer from the code given below :

Code:
Options :

(i) and (ii)
91394345955,

91394345954, O and (i)

91394245955, (el aunel (i

(ii) and (iv)
91394345956,

Question Number : 89 Question Id : 91394311697 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Read the following statements regarding the strain gauge transducer system.
(i) It has negligible loading effect on the primary transducer.
(ii) It has advantage of formation of push-pull systems for temperature compensation.
(iii) It has maximum loading effect on the primary transducer.

(iv) It has very large size and hence increases the size of primary elastic transducer.

Which of the above statements are correct ?

Choose the correct answer from the code given below :
Code:

Options :

(i) and (ii)
91394345953,

91394245954, Wisadl

(ii) and (iii)
91394345955,

91394345956, o and (V)

Question Number : 90 Question Id ;: 91394311698 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : Ne Option Orientation ;: Vertical

Correct Marks : 2 Wrong Marks : 0
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Consider the following statements with respect to the characteristic
polynomial defined as q(s) =s* +s3 +s® +s + k.

(i)  The system is stable for k > 0
(ii) The system is unstable fork > 0

(iii) The system is unstable for k <0
(iv) The system is stablefor k<0

Which of the above statements are correct ?

Choose the correct answer from the code given below :

Code :
Onptions :
91394345957, O and (i)
91394345055, ) and (V)
91394345959, ) and (i)
91394345060, ) and ()

Question Number : 90 Question Id : 91394311698 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Consider the following statements with respect to the characteristic
polynomial defined as q(s) =s* +s® + s + s + k.

(i)  The system is stablefor k >0
(ii) The system is unstable fork > 0
(iii) The system is unstable fork <0
(iv) The system is stablefor k<0

Which of the above statements are correct ?

Choose the correct answer from the code given below :

Code :
Options :
91394345957, ) and (i)
91394345055 ) and (V)
(ii) and (iii)

91394245954,
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(ii) and (iv)
913942345960,
Sub-Section Number: A
Sub-Section Id: 913943592
Question Shuffling Allowed : Yes

Question Number : 91 Question Id : 91394311699 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Match the two lists and choose the correct answer from the code given

below :
List I List II
(a) Deal and Grove model (i)  Proximity printing
(hl MOS capaciter (ii) Geometrical consideration
(c) Optical lithography () e,
d
(d) X-ray lithography (iv)  Silicon oxidation
Code:
Options :
91394345962, (a)—(D), (b)—(ii), (e)iid), (d)—(iv)
91394345064 - 0-(), (01D, (d)iid)

Question Number : 91 Question Id : 91394311699 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Match the two lists and choose the correct answer from the code given

below :
List I List I1
(a) Deal and Grove model (i)  Proximity printing
(b) MOS capacitor (i} Geometrical consideration
(c) Optical lithography (iii) e,
d
(d) X-ray lithography (iv) Silicon oxidation
Code:

Options :
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912942459¢€1.

91394345962,

91394345963.

91394345964,

(a)—(iv), (b)iii), (e)—(1), (d)—(iD)

(a)-(1), (b)ii), (e)-{iid), (d)—(iv)

(a)-(id), (b)—iii), (c)—(iv), (d)—(i)

(a)-(1), (b)—(iv), (e)-(ii), (d)—(iii)

prepp
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Question Number : 92 Question Id : 91394311700 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Match the two lists and choose the correct answer from the code given

below :
List I

(a) Input resistance with output short-circuited
(b) Reverse open circuit voltage amplification

(¢) Output short-circuited current transfer ratio

(d) Output conductance with input open-circuited

Code:

Options :

912942459€5.,

91394345966.

91394345967,

91394345963.

(a)—(D), (b)—(id), (c)iii), (d)(iv)

(a)-(iv), (b)-{ii), (e)—(1), (d)—(iii)

(a)-(iii), (b)—(iv), (e)-(ii), (d)—(i)

(a)-(ii), (b)(iil), (e)—(iv), (d)—(1)

List IT

he
h,
h

0

];.1.

Question Number : 92 Question Id : 91394311700 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation ;: Vertical

Correct Marks : 2 Wrong Marks : 0
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Match the two lists and choose the correct answer from the code given
below :

List I List I1
(a) Input resistance with output short-circuited (i)
(b) Reverse open circuit voltage amplification (ii)

(c) Output short-circuited current transfer ratio (iii)

F T

(d) Output conductance with input open-circuited (1v)

Code:
Options :

grsgisacges -, (e~ (d)-(v)

ssedsissae I (), (-0, (-

91394345065, - (B-(i), (-i¥), (d)-()

Question Number : 93 Question Id : 91394311701 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Match the two lists and choose the correct answer from the code given

below :
List I
(a) Cq
|1
O——WMWAV———MWN——0
Rl Rg
€ L C2 e,
- O
(b) C
I
YNV <
R4
©i Ry €
o O
(c) R
R A'A'AY, o
R
€; 2 e,
C
o T .
(d) . Cq
I
o—\W O
R,
R
€; p €,
C
o i 5
Code:
Options :
sisaassgy N RSO (id)- 0D
i s —
91394345970, U (B)-(v), (-1, (d)-0D)

91384345971.

(a)-(iv), (b)-{iid), (e)-(ii), (d)—(i)

List I1
(i) A lead-lag network

(ii) A lag network

(iii) A bridge-T filter network

(iv) A lead network

prepp
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91294245972,

(a)—(ii), (b)—(iii), (c)—(1), (d)—(iv)

prepp
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Question Number : 93 Question Id : 91394311701 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Match the two lists and choose the correct answer from the code given

below :
List I
(a) ,C1
1
o— WY % VWA —0
Ry Ro
€; L C2 €o
o o
(b) e
15
o——L— AAA, o
R4
€; R2 €,
0 o
(c) Ry
R VATATAY, o
R
€ 2 €o
C
o T o
(d) ,C1
1§
o—1L1  AAA o
R, %
R
€ 2 €
C
o == o
Code:
Options :

91394345969,

(a)-(iii), (b)—(iv), (e)—(i), (d)—(ii)

List I1
(i) A lead-lag network

(ii) A lag network

(iii) A bridge-T filter network

(iv) A lead network
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91294245970,

9139434597 1.

91394345972.

(a)-(iid), (b)—(iv), (e)—(i), (D)D)

(a)-(iv), (b)-{iid), (e)-(ii), (d)—(i)

(a)—(ii), (b)—(iid), (e)—(1), (d)—(iv)

prepp
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Question Number : 94 Question Id : 91394311702 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :

Match the two lists and choose the correct answer from the code given below :

List I List IT
(Quantity) (Transducer system)
(a) Temperature (i) Cantilever
(b) Force (ii) Manometer
(¢) Liquid level (iii) Dynamometer
(d) Torque (iv) Bimetallic element
Code:
Options :
). (b)_(ii 9 ()
5 RS S (a)—(iv), (b)—(ii), (e)—(iid), (d)—(i)
). (b)_ii 3 (D
T — (a)—(iv), (b)—(ii), (e)—(i), (d)—(iii)
) ()i ) ()i
I (a)—(iv), (b)), (e)-(il), (d)—(iii)
5 ()] S (i
T (a)—(iii), (b)—(iv), (e)—(1), (d)—(ii)

Question Number : 94 Question Id : 91394311702 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Match the two lists and choose the correct answer from the code given below :

List I List IT
(Quantity) (Transducer system)
(a) Temperature (i) Cantilever
(b) Force (ii) Manometer
(¢) Liquid level (iii) Dynamometer
(d) Torque (iv) Bimetallic element
Code:
Options :

91394345973.

(a)-(iv), (b)-{ii), (e)-(iid), (d)—(i)
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(a)—(iv), (b)—(ii), (c)—(D), (d)—(iii)

91394345974
91394345975, (a)(iv), (b)—(1), (e)—(ii), (d)—(iii)
91294z4597s M dby (v, o)), (b

Question Number : 95 Question Id : 91394311703 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :
Match the two lists and choose the correct answer from the code given

below :
List I List 11
(a) Current gain in common base i) 1(ONE)
(b) Input impedance in common base (ii) Less than unity
(e} Voltage gain in common collector (iii) Very high (~ 2 MQ)
(d) Output impedance in common base (iv) Lowest
Code:
Options :
oyzsazacgry | - D, (o=, (d) -G
91394345078, i, (1)-0), (=), (d)-(i)
91394345979, (a)—(iv), (b)(ii), (e)—(ii), (d)—(i)
91394345980, (a)-(ii), (b)—(iv), (e)—(1), (d)—(iii)

Question Number : 95 Question Id : 91394311703 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Match the two lists and choose the correct answer from the code given

below :
List I List IT
(a) Current gain in common base (i) 1(ONE)
(b) Input impedance in common base (ii) Less than unity
(c) Voltage gain in common collector (iii) Very high (=~ 2 MQ)
(d) Output impedance in common base (iv) Lowest
Code:

Options :
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91294245977,

91394345973.

91394345979.

913943453930.

(a)—(D), (b)—(ii), (c)iil), (d)(iv)

(a)-(iid), (b)—(i), (e)-(iv), (d)—(ii)

(a)—~(iv), (b)—(iii), (e)—(ii), (d)—(i)

(a)—(ii), (b)—(iv), (e)—(1), (d)—(iii)
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Question Number : 96 Question Id : 91394311704 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Match the two lists and choose the correct answer from the code given

below :
List I

(a) Concentration of holes in n-type
semiconductor

(b) Concentration of electrons in p-type
semiconductor

(¢) Fermi level in n-type material

(d) Contact potential

Code:

Onptions :

91394345981.

91294245982,

913943459383.

91394345934.

Question Number : 96 Question Id : 91394311704 Question Type :
Single Line Question Option : No Option Orientation : Vertical

(a)—(D), (b)ii), (e)-iii), (d)—(iv)

(a)-(iii), (b)~(D), (e)—(iv), (d)—(ii)

(a)-(ii), (b)—(iv), (e)—(1), (d)—(iii)

(a)—~(iv), (b)—(iii), (e)—(ii), (d)—(i)

Correct Marks ;: 2 Wrong Marks :

List IT
-2
H =
Nﬁ
NN
G) —in —DoA
q ns
1
9
(iii) 2
ND
(iv) BEq=KkTin ~C
Np

MCQ Option Shuffling : Yes Display Question Number : Yes
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Match the two lists and choose the correct answer from the code given

below :

List I

(a) Concentration of holes in n-type
semiconductor

(b) Concentration of electrons in p-type
semiconductor

(c) Fermi level in n-type material

(d) Contact potential

Code:

Options :

91394345981.

91394345982.

91394345983.

91394345934.

Question Number : 97 Question Id : 91394311705 Question Type :
Single Line Question Option : No Option Orientation : Vertical

(a)—(D), (b)—(ii), (e)iii), (d)—(iv)

(a)-iid), (b)—(i), (e)-(iv), (d)—(ii)

(a)-(ii), (b)—(iv), (e)—(1), (d)—(iii)

(a)-(iv), (b)iii), (e)-(ii), (d)—(1)

Correct Marks : 2 Wrong Marks : 0

List IT

n

=l & [.“‘:

(i)
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MCQ Option Shuffling : Yes Display Question Number : Yes
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Match the two lists and choose the correct answer from the code given

below :
List I

(a) P

(b)

(c) l

(d) l

* J L
"
3>—{ CK
K —
Code:
Options ;
91394345085, -0V (B)-(1), (c)-Git), (d)-(D)

SisBasdooms et (=D, (-, (-t

List IT

(i)  Positive
edge-triggered
flip-flop

(ii) T-flip-flop

(iii) Clocked flip-flop
with clear an
preset

(iv) Negative level
triggered flip-flop

prepp
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giggazasegy W (B, (0-Ub, (d-()

91394345985, (a)—(iv), (b)(ii), (e)(1), (d)—iii)

Question Number : 97 Question Id : 91394311705 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation ;: Vertical

Correct Marks : 2 Wrong Marks : 0
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Match the two lists and choose the correct answer from the code given

below :
List I

(a) P

(b)

(c) l

(d) l

* J L
"
3>—{ CK
K —
Code:
Options ;
91394345085, -0V (B)-(1), (c)-Git), (d)-(D)

SisBasdooms et (=D, (-, (-t

List IT

(i)  Positive
edge-triggered
flip-flop

(ii) T-flip-flop

(iii) Clocked flip-flop
with clear an
preset

(iv) Negative level
triggered flip-flop

prepp
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sigasussgy v -Gl g, (-0

Question Number : 9§ Question Id : 91394311706 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation ;: Vertical

Correct Marks ;: 2 Wrong Marks ;
Match the two lists and choose the correct answer from the code given below :

List I List IT
(a) Flash — ADC () Higher resolution and good noise immunity
(b) SAC - ADC (i) Low noise immunity and medium speed
(¢) RAMP - ADC (iii) Low speed and good noise immunity
(d) Dual Slope — ADC (iv) Faster speed and low noise immunity
Code:
Options :
i b 3 4 LR ’ d s
ez TIPSO, (O
i b 1 : d sa1
grssazacgen b -, (e-iv), (d)-(iD
i b 111 L d a5
sysedsiseg Y (-G (- A1
1 . b 1 , C ! d Tr]
s150d34550p U9, (D)0, L (d) D)

Question Number : 98 Question Id : 91394311706 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Match the two lists and choose the correct answer from the code given below :

List I List IT
(a) Flash — ADC (i) Higher resolution and good noise immunity
(b) SAC - ADC (ii) Low noise immunity and medium speed
(¢) RAMP - ADC (iii) Low speed and good noise immunity
(d) Dual Slope — ADC (iv) Faster speed and low noise immunity
Code:
Options :
a)—(1), (b)—(iv), (e)—(iii), (d)—(ii)
I (a)—(D), (b)—(iv), (e)-{iii), (d)—(
a)-(i), (b)—(ii), (e)—(iv), (d)—(iii)
T, (a)—(D), (b)-(id), (c)(iv), (d)

sisadaiegey v (=L, (e, (i)
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g1354z4500p 24 (DD, (-0, (d)-GiiD)

Question Number : 99 Question Id : 91394311707 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Match the two lists and choose the correct answer from the code given below :

List I List I
(2) LDA addr (i) Arithmetic group
(b) ACI data (ii) Data transfer group
(¢) ORI data (iii) Logical group
(d) JZ addr (iv) Branch control group
Code:
Options :
B et W—
sisadaicgey iy (D), (e, (d)-v)
x b L] aaa d =
91394345994, (a)—(D), (b)—(ii), (e)(iid), (d)—(iv)
a5 . i
sisgasasges T ik (b-Uiel-, -t
i b)—(iii 5 (G
91394345996, ' 2—0¥) (-G, (1), (d)-0)

Question Number : 99 Question Id : 91394311707 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Match the two lists and choose the correct answer from the code given below :

List I List IT
(a) LDA addr (i) Arithmetic group
(b) ACI data (ii) Data transfer group
(¢) ORI data (iii) Logical group
(d) JZ addr (iv) Branch control group
Code:
Options :
5 (b)_(i ()
T — (a)—(ii), (b)), (e)iil), (d)—(iv)
3 (b (D)
T — (a)—(i), (b)—(ii), (e)iii), (d)—(iv)
i), (b)—(i), D), (d)(iv
. (a)-(iii), (b)—(ii), (e)—(1), (d)—(iv)

91394345996, (a)—(iv), (b)iii), (e)—(ii), (d)—(i)
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Question Number : 100 Question Id : 91394311708 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Match the two lists and choose the correct answer from the code given

below :
List I List IT
Sq S
@ U 0 (i)  Opcode fetch
® 0 1 G Wets
(0 1 0 (i) Read
@ 1 1 (iv) Halt
Code:
Options :
g18gumasggy. N (-{i, (o) (L) {c)-(iv)
oyZsazacagg | v (D (Rl (=
91394345000, 0D (-0, (c)-(iiD), (d)(iv)

Question Number : 100 Question Id : 91394311708 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Match the two lists and choose the correct answer from the code given

below :
List I List IT
SD 81
&) 0 0 (i) Opcode fetch
k) 0 1 (i) Write
@ 1 0 (i) Read
Wy 1 1 (iv) Halt
Code:
Options :
sigaasasesy - WB-U0; (oMUt

91394345998, (a)—(iv), (b)iii), (e)—(ii), (d)—(i)
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SggazicEyg vy -0, (-, ()

sissdsaatos W (0. e, (d-lv)

Question Number : 101 Question Id ;: 91394311709 Question Type : MC(Q Option Shuffling : Yes Display Question Number ;: Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks ;
Match the two lists and choose the correct answer from the code given

below :
List I List I1
(b) (m+n)(a+h) (ii) a¥b -=c*d
() 3x%2+2x+5 (iii) (a+b*c)(d +e)
d+e

Code:
Options ;
Sisedsasngi, il (ke (-0, (U]
139434500z 2 AW (b=, (e)-(HEEL-1
orzsazanos: o -IEEEE (d)-(ir)
sieazdanos b -, @08 (-

Question Number : 101 Question Id : 91394311709 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Match the two lists and choose the correct answer from the code given

below :

ListI List I1
(a) axb—cxd (1) 3*=*x+2%x+5
(b) (m+n)(a+h) (ii) a*b -=c*d
() 3x2+9%x+5 (111) (a+b *c)(d + e)
(d {(a+bxe) (iv) (m+n)*(a+b)

d+e

Code:

Options :
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srgaazaenyy N (B9, ()=, (d)-(iif)

o1mnmanngs  ®-) B, (@D, @G

91394346003, (a)—(i), (b)—(ii), (e)-(iii), (d)—(iv)

91394346004, (a)(ii), (b)—(iv), (e)—(ii), (d)—(i)

Question Number : 102 Question Id : 91394311710 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Match the two lists and choose the correct answer from the code given below :

List I List IT
(2) x!=y () xislessthany
(b) x<y (i) x is greater than y
() x>y (iii) x is less than or equal to y
(d)x{=y (i‘*’)xisnotequa.ltoy
Code:
Options :
i L) b ] 5 . 1i 3 d i
grgansaspgs 0w (b (UL B
s1z0d346008 2D, (-@RseEdD, (=D
o ms o
91394346007 . {a}_{l)s ( )—(]1_}, (CJ—{:]],]_), ( )—<“T_}
(b s
91394345008, 2 (B)-(), (©-i¥), (d)-()

Question Number : 102 Question Id ;: 91394311710 Question Type : MCQ Option Shuffling : Yes Display Question Number ;: Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Match the two lists and choose the correct answer from the code given below :

List 1 List IT
(a) x!=¥y (i) xislessthany
(b) x<y (ii) x is greater thany
(¢) x>y (iii) x is less than or equal to y
(d) x<=y (iv) x isnot equalto y
Code:
Options :

91394346005. (a)-(iv), (b)—(1), (e)—(ii), (d)—(iii)
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91394346008, (b)(iv), (e){id), (1)

91394346007, (a)-(1), (b)—(ii), (e)(iii), (d)—(iv)

Question Number : 103 Question Id ; 91394311711 Question Type : MC(Q Option Shuffling : Yes Display Question Number ; Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :
Match the two lists and choose the correct answer from the code given below :

List I List IT
(a) TE mode (i) No magnetic field in the direction of propagation
(b) TM mode (ii) No electric, no magnetic field in the direction of propagation
(¢) TEM mode (iii) Both electric and magnetic field present in the direction of
propagation
(d) Hybrid mode (iv) No electric field in the direction of propagation
Code:
Options :
a)—(iv), (b)—(iii), (e)—(i), (d)—(ii)
5 SR EEES: (a)—(iv), (b)—{iii), (e)—(1), (d)—(
a)—(iv), (b)-(ii), (e)—(i), (d)—(iii)
91394346010, (=i, ()=, Ak AR
a)—(iv), (b)—(i), (e)—-(ii), (d)—(iii)
STSSASART] 1 (a)—(iv), (b)—(i), (e)—(ii), (d)
a)—(i), (b)—(iv), (e)-(ii), (d)—(iii)
T SBASREGTE (a)(1), (b)—(iv), (e)—(ii), (d)—~(

Question Number : 103 Question Id : 91394311711 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Match the two lists and choose the correct answer from the code given below :

List I List II
(a) TE mode (i) No magnetic field in the direction of propagation
(b) TM mode (ii) No electric, no magnetic field in the direction of propagation
(¢) TEM mode (iii) Both electric and magnetic field present in the direction of
propagation
(d) Hybrid mode (iv) No electric field in the direction of propagation
Code:
Options :
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1354346010, 2 v (B (-0, (d)-GiiD)

91394346011. (a)(iv), (b)—(1), (e)—(ii), (d)—(iii)

01394346010 BB B-), ()-(), (i)

Question Number : 104 Question Id ;: 91394311712 Question Type : MCQ Option Shuffling : Yes Display Question Number ; Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :
Match the two lists and choose the correct answer from the code given below :

List I List II
(a) Travelling wave tube (i) kW — MW output power
(b) Magnetron (i) Low frequency operation
(¢) Triodes (iii) Low power output
(d) Gunn diode (iv) Slow wave circuits
Code:
Options :
i b)—(ii D). (d)—(ii
129424501z V-V 00D, (D, (-l
(b we
sysansagna 99 ()l (o) GG
s150d54601s U9, (b-Witeltil (d) i)
i b 3 T d s
91394346016, 2~ (D)), ()-(i), (d)-()

Question Number : 104 Question Id : 91394311712 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Match the two lists and choose the correct answer from the code given below :

List I List IT
(a) Travelling wave tube (i) kKW — MW output power
(b) Magnetron (ii) Low frequency operation
(e) Triodes (iii) Low power output
(d) Gunn diode (iv) Slow wave circuits
Code:
Options :

1 b 11 : d 222
srsedsageyy - (), (-0, (-

91394346014, (a)—(iv), (b)—(iii), (e)—(ii), (d)—(i)
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srgaazaanys v - Se-HL, d)-(iif)

siasmegs o WA DA

Question Number : 105 Question Id ;: 91394311713 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks ;

Match the two lists and choose the correct answer from the code given below :
List I List IT

(a) Foster Seeley discriminator (i) Optical fibre

(b) Envelope detector (i) Microwave

(e¢) APD detector (iii) AM wave

(d) PIN detector (iv) FM signal

Code:

Options :

91394345017, - (B)-(v), (-1, (d)-0D)

srsedsaore Y (-G (- S

51304346000, 2 U (D) (el (d) i)

Question Number : 105 Question Id : 91394311713 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Match the two lists and choose the correct answer from the code given below :

List I List IT
(a) Foster Seeley discriminator (i) Optical fibre
(b) Envelope detector (i) Microwave
(e) APD detector (iii) AM wave
(d) PIN detector (iv) FM signal
Code:
Options :
i), (b)—(iv), i), ()i
S ASABGT (a)-(iii), (b)—(iv), (e)—(ii), (d)—(1)
) (bt 3 (D
T (a)—(ii), (b)iii), (¢)—(i), (d)—(iv)

sisadaiEnie R Uvh (=D, (-, (i)
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sTgaazaanse N (-9 -0, d)-(iif)

Question Number : 106 Question Id : 91394311714 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Match the two lists and choose the correct answer from the code given below :

List I List IT
(a) AM-modulator (i) Phase discrimination
(b) VSB (i) Balanced modulator
() 5SB (ili) Chopper type
(d) DaB (iv) Phase cancellation method
Code:
Options :
i b 1 L d T
91394346021, ) (B0, (e)(i), ()-(i)
i b 111 = d a3
91394345022 V) (B)-(iD), (-1, (d)—(i)
i) (b a3 e d .
grssazangoy o -, (=D, (d)-(v)
11} b 1 1 d *a
a1394z4605a 2 Hi (0D, (O-Uv)SQ-Y

Question Number : 106 Question Id : 91394311714 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Match the two lists and choose the correct answer from the code given below :

List I List IT
(a) AM-modulator (i) Phase discrimination
(b) VSB (ii) Balanced modulator
(¢) SSB (iii) Chopper type
(d) DSB (iv) Phase cancellation method
Code:
Options :
—— (a)—(iv), (b)—{D), (e)-(iii), (d)—(ii)

grssazangos o (D, (O, (D

ssensaagey - (-0, (-0, (d-lv)

sissisdensa B WD, (R-ID, fe-Uw, (d)-U)
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Question Number : 107 Question Id : 91394311715 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Match the two lists and choose the correct answer from the code given

below :
List I b
(a) V_ . ofhalf wave rectifier output " oV
i
TC
(b) V_ . of bridge rectifier output - v,
| T
(e) Vg, (half wave rectifier output) Gii) V
(d) Vg, (full wave output of full wave rectifier) v
(iv) —=
J2
Code:
Options :
G T
sise42denes @ UD, -0, (e-09), (-
1 b 111 3 d 3
sizsamnsnzs T oAl e R
gtagazagnoy s (B (- R4
91394345028, V) (B)-(iD, (-0, (d)-0D)

Question Number : 107 Question Id : 91394311715 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Match the two lists and choose the correct answer from the code given

below :
List I List 11
(a) V. of half wave rectifier output ) 2v_
i
T
(b) V_ . of bridge rectifier output (i) Vin
T
(c) Vg4, (half wave rectifier output) (iii) V
(d) Vg4, (full wave output of full wave rectifier) v
(iv) —=
J2
Code:
Options :

grssasangos o (b, (o)-(v) (D
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srggazaanse vy -0, (-, ()

91394346027, (a)-(iii), (b)—(iv), (c)—(i), (d)—(ii)

91394346008 2 uny(b)-UD, (00, (d-0)

Question Number : 108 Question Id ;: 91394311716 Question Type : MC(Q Option Shuffling : Yes Display Question Number ; Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :
Match the two lists and choose the correct answer from the code given

below :
List I List I
(a) V-number (1) V2 /2
(b) Birefringence (i) %, VI
(¢) No. of modes e k[l{ny'llx)
) A (iv) Qﬂ\/nz 2
s 1 72
Code:
Options :
91394348029, Ui, (-(1¥), (i), (d)-()
grssazangzy o (MHUNEEER, (1D
arseasagng] W), (O, (@RS
Sissisdenss B W (B, (a)-tho), (-

Question Number : 108 Question Id ;: 91394311716 Question Type : MC(Q Option Shuffling : Yes Display Question Number ;: Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :
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Match the two lists and choose the correct answer from the code given

below :

List I
(a) V-number
(b) Birefringence

(¢} No. of modes
(d) N.A.

Code:

Options :

List II
1) V2/2
(i) x, VoA
(iii) kp(ng=ny)
(iv) 2ma [9 9
Tam VLT M

(a)-(iid), (b)—(iv), (e)-(id), (d)—()

91394346029,

(a)—~(iv), (b)—(iii), (e)—(D), (d)—(ii)

91394346030.

(a)-(i), (b)ii), (c)—(iv), (d)—(iii)

91394346031.

(a)—(ii), (b)—(1), (e)—(iv), (d)—(iii)

91294246032,

prepp
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Question Number : 109 Question Id : 91394311717 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



www.prepp.in

Match the two lists and choose the correct answer from the code given

below :
List I List IT
ra3 e >
—2 0 le]
(b) &2t (i)
) i j2
0 o
X —)2
(@ e2tsin 2t (i) pjo
5 |0 =
(d) 1-e2t (iv) AJO
x--1 2
|
|
P H [
|
%] —j2
Code:
Options :
ssensaanay (B Dd-0D
- .
si36424e0zs Ui, (B9, (o)D), (-

91394346036.

(a)-(id), (b)(1), (e)—(iv), (d)—(iii)
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Question Number : 109 Question Id : 91394311717 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Match the two lists and choose the correct answer from the code given

below :
List I

(a) sin 2t

(b) 2t

() e2tgin 2t

(d) 1-e2t

Code :

Options :

91394346033.

91394346034,

91394346035.

List I1
(i) AJO
— % >
_9 0 G
(ii)
i i2
0 o
X —)2
(iii) AJO
5 0 o
(iv) AJO
x--1 12
|
I
9" [0 o
|
Y --| —j2

(a)-(id), (b)iii), (e)—(iv), (d)—(i)

(a)-(iii), (b)—(iv), (e)-(i), (d)—ii)

(a)-(iii), (b)—(iv), (e)—(ii), (d)—(1)
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91394346036, 2 D (b)), (e)~(iv), (d)iii)

Question Number : 110 Question Id : 91394311718 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Match the two lists and choose the correct answer from the code given

below :
List I List I1
(Function) (Laplace transform)
J‘X(s} ds
S5
(b)  =x(t) (i) Limit s x(s)
T S — o0
() =x(0M) (iii) Limit s x(s)
s —0
(d) x(eo) (v) —dx(s)
ds
Code:
Options :
1394246037 W, (D), (e)-(HERE-(iv)
91394345038, -0V (-0, (€)=, (d)-(iiD)
sisgasasoss o -0y te-Ub, (rED
91394348040, 2~ W (B)-(E), (-1, (d)-(it)

Question Number : 110 Question Id : 91394311718 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Match the two lists and choose the correct answer from the code given

below :
List I List I1
(Function) (Laplace transform)
J‘X(s} ds
]
(b)  x(t) (ii)  Limit s x(s)
T S — o0
() x(07) G Limit s}
s —0
() x(e0) (iv) - dx(s)
ds
Code:
Options :
ozsazanay | o R (=), (d)-(e)
01394346033, 4" (b)), {e)~(i), (d)~(if)
Sisedsasnzy, vk (b0, (c-UED-0Y
91294345040, B~ (), (e)(i), (d)—(i)

Sub-Section Number: 4
Sub-Section Id: 913943593
Question Shuffling Allowed : Yes

prepp
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Question Number : 111 Question Id : 91394311719 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question

Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In bipolar 1.C. technology, the n-p-n transistors have the following regions :

(i) Emitter
(ii) Base
(ili) Collector

(iv) Substrate

Arrange them in ascending order of their resistance offered.

Options :

91394346041,

(1), (i), (id), (iv)
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(ii), (iid), (iv), (D)

91394346042
iii), (iv), (1), (ii
91394346043, (i), Gw), (), )
iv), (i), (i), (iii
91394346044, (i) A5 G, (1)

Question Number : 111 Question Id ;: 91394311719 Question Type : MC(Q Option Shuffling : Yes Display Question Number ; Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :

In bipolar 1.C. technology, the n-p-n transistors have the following regions :

(i) Emitter
(ii) Base
(ili) Collector

(iv) Substrate

Arrange them in ascending order of their resistance offered.

Options
91394346041, O I (D, V)
01394346042, O (I (WL )
91394346043, 0 (Vh @)
91394346044, O D (D) G

Question Number : 112 Question Id : 91394311720 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line (Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Consider the following two-mesh network :

2 Q -2 Q 3Q -5 Q
—A—]f W—]f

10&v+@ D 22 @ 10

(i)  The power dissipated in 1 Q resistor is Py
(ii)  The power dissipated in 2 Q resistor is P,
(iii) The power dissipated in 3 Q) resistor is Pg

(iv) The power supplied by the source is P

Arrange above in increasing order of power.

Options :

91394346045, O I {D @)
91394346046, O I D V)
91394346047, O B D V)
01394346045, | (1 B (W)

Question Number : 112 Question Id : 91394311720 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Consider the following two-mesh network :

2 Q -2 Q 3Q -5 Q
—A—]f W—]f

10&v+@ D 22 @ 10

(i)  The power dissipated in 1 Q resistor is Py
(ii)  The power dissipated in 2 Q resistor is P,
(iii) The power dissipated in 3 Q) resistor is Pg

(iv) The power supplied by the source is P

Arrange above in increasing order of power.

Options :

91394346045, O I {D @)
01394346046, O (D (W)
91394346047, O B D V)
01394346045, | (1 B (W)

Question Number : 113 Question Id : 91394311721 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :

A 120 V, 20 Hz source supplies a series circuit consisting of a 5 Q
capacitive reactance, a 16 Q resistor, and a coil with resistance and
inductive reactance of 3 Q and 1-2 Q respectively.

(i)  The input impedance is Z
(ii) The circuit current is I

(iii} The voltage across the coil is V.

(iv) The resonant frequency £f_

Arrange the above in increasing order of their numerical values.

Options :

91394346049, (i), (ii), (iv), (iii)
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(iv), (iii), (iD), (D

91394346050,
iv), (ii), (iii),
91394346051 (iv), i), Gi), ()
i), (ii), (iii), (iv
91394346052, (@ (i), (i), (iv)

Question Number : 113 Question Id ; 91394311721 Question Type : MC(Q Option Shuffling : Yes Display Question Number ; Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :

A 120 V, 20 Hz source supplies a series circuit consisting of a 5 Q
capacitive reactance, a 16 Q resistor, and a coil with resistance and
inductive reactance of 3 Q and 1-2 Q) respectively.

(i)  The input impedance is Z
(i1) The circuit current is I
(iii) The voltage across the coil is VL

(iv) The resonant frequency fr

Arrange the above in increasing order of their numerical values.

Options :
91394346049, 1 (V% ()
91394346050, T I 1, 1)
91394346051, " 0
91394346052, O W (D, (V)

Question Number : 114 Question Id : 91394311722 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The following materials are given :
(i) Carbon

(i) Silicon carbide

(iii) Silicon nitride

(iv) Gallium nitride

Arrange them in ascending order of their dielectric consistent.
Options ;

01394346053, O W (W)
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(ii), (iid), (iv), (D)

913943246054,
iii), (iv), (1), (ii
91394346055, (i), Gw), (), )
iv), (i), (i), (iii
91394346056, (i) A5 G, (1)

Question Number : 114 Question Id ;: 91394311722 Question Type : MC(Q Option Shuffling : Yes Display Question Number ; Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :

The following materials are given :
(i) Carbon

(ii) Silicon carbide

(ili) Silicon nitride

(iv) Gallium nitride

Arrange them in ascending order of their dielectric consistent.

Options :
91394346053, O 1 D V)
91394346054, 0 D) (9, @
91394346055, O (Vh @ B
91394346056, | P W, ()

Question Number : 115 Question Id : 91394311723 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Arrange the following materials in ascending order of their diffusivity in Silicon.
(i) Li
(ii) Na
(iii) K

(iv) Ag
Options :

91394348057, 0 W (D, (V)

91394346053 W W0
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91294246053,

91394346060,

(iv), (iii), (1), (iD

(i), (i), (), (iii)
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Question Number : 115 Question Id ; 91394311723 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks ;

Arrange the following materials in ascending order of their diffusivity in Silicon.

i Li
(ii) Na
(i) K

(iv) Ag

Options :

91394346057,

91394346053.

91394346059,

91394346060,

(), (i), (id), (iv)

(iii), (i), (iv), (D

(iv), (iid), (i), (ii)

(id), (i), (i), (iii)

Question Number : 116 Question Id : 91394311724 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Following are the intercepts for SIM instruction :

(i) Serial Output Data (SOD)
(ii) Mark Set Enable (MSE)
(iii) SOD Enable (SDE)

(iv) Reset RST 7'5 (R7-5)

Arrange them in ascending order.

Options :

91394346061,

91294246062,

91394346063,

(i), (iv), (iid), (D)

(iv), (ii), (iii), (i)

(1), (i), (id), (iv)
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i), (i), Giv), G
a1394348064, V1)

Question Number : 116 Question Id : 91394311724 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Following are the intercepts for SIM instruction :
(i) Serial Output Data (SOD)
(ii) Mark Set Enable (MSE)
(iii) SOD Enable (SDE)

(iv) Reset RST 7'5 (R7-5)
Arrange them in ascending order.

Options :

91304346061, O V) (D, @

91394346062 > W (O

91394346084 O M 9, )

Question Number : 117 Question Id : 91394311725 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which of the following operations on pointers would never work out ?

(i) Pointer variables can be compared provided both variables point to objects of the same
data type

(ii) Addition of two pointers
(ili) Division of a pointer with a constant
(iv) Multiplication of a pointer with a constant

Options :

i), (ii) and (iii
91394346065, (B smd, it

i), (ii) and (iv
91394346066, 0,4 )

ii), (iii) and (iv
91394346067, (&), () (i)

i), (iii) and (iv
91394346068, (D fil v
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Question Number : 117 Question Id : 91394311725 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following operations on pointers would never work out ?

(i) Pointer variables can be compared provided both variables point to objects of the same
data type

(ii) Addition of two pointers
(iii) Division of a pointer with a constant

(iv) Multiplication of a pointer with a constant

Options :

01394346065, D 20 WD
91394346086, ) And )
91394346067, O U and )
01394346088, U And ()

Question Number : 118 Question Id : 91394311726 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which of the following are correct ?

(i) All elements of an array are ints
(i) All elements of an array are floats
(ili) Some elements of an array can be ints and other floats

(iv) All elements of an array are chars

Options :

91394346089, O W and (i
91394346070, 1V 204 )
91394346071, O O and @)
01394346072, U and ()

Question Number : 118 Question Id : 91394311726 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Which of the following are correct ?

(i) All elements of an array are ints
(ii) All elements of an array are floats
(ili) Some elements of an array can be ints and other floats

(iv) All elements of an array are chars

Options :

01394346069, (20 WD
01394346070, e
91394346071, () and (W)
91394346072, I and ()

Question Number : 119 Question Id : 91394311727 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Following are the light transmission mediums :
(i) Glass

(i) GaAs
(ii) Diamond

(iv) Water
Arrange their refractive index in descending order. The correct sequence is given by

Options :

91394346073, O @ W, (D
01394346074, & (W)
91394348075, O W (¥), (i)
9139434807, 0 D, @, (V)

Question Number : 119 Question Id : 91394311727 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Following are the light transmission mediums :
(i) Glass

(i) GaAs

(iii) Diamond

(iv) Water
Arrange their refractive index in descending order. The correct sequence is given by

Options :

91394346073, O (B I )
91394346074, O O (D, (V)
01394346075, O () ()
91394346076, (i I, V)

Question Number : 120 Question Id : 91394311728 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Arrange in increasing order of their transmission distance without using repeater.

(i) Metal wired transmission
(ii) Wireless transmission
(iii) Frequency modulated wave transmission

(iv) Ground waves transmission

Options :

91394346077, O W) GV, (i)
01394346075, (B B (W)
91394346079, 1 (D (V)
91394346080, O (D V)

Question Number : 120 Question Id : 91394311728 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Arrange in increasing order of their transmission distance without using repeater.

(i) Metal wired transmission
(ii) Wireless transmission
(ili) Frequency modulated wave transmission

(iv) Ground waves transmission

Options :

91394346077, W (¥ (D)
91394346078, Uitk (V)
01394346079, O (D (V)
91394346080, O HD &V)

Question Number : 121 Question Id : 91394311729 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Arrange in increasing order of Null-to-Null RF bandwidth (Hz) of the following binary

bandpass signals.
(i) QPSK
(i) MSK
(iii) Sunde’s FSK
(iv) ASK
Options :
i), (iv), (D), @)
91294246081 (i), (iv), (),
iv), (1), (ii), (iii)
91394346082. ( @), 4, ¢
1), (ii), (iv), (iii)
91394346083. @ (), ), ¢
iv), (ii), (1), (i
91394346084, ( (), O, i)

Question Number : 121 Question Id ;: 91394311729 (Question Type : MCQ Option Shuffling : Yes Display Question Number ;: Yes
Single Line Question Option : Ne Option Orientation ;: Vertical

Correct Marks : 2 Wrong Marks : 0
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Arrange in increasing order of Null-to-Null RF bandwidth (Hz) of the following binary

bandpass signals.
(i) QPSK
(i) MSK

(ili) Sunde’s FSK

(iv) ASK

Options :

91294246081.

91394346032.

913943460383.

91394346034.

(iii), (iv), (i), (1)

(iv), (1), (i), (iid)

(1), (i), (iv), (iii)

(iv), (id), (i), (iid)
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Question Number : 122 Question Id : 91394311730 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Arrange in increasing order of the transistors used in the below mentioned circuits.

(i) TTL NAND (Totem Pole Circuit)

(ii) DTL NAND Gate
(ii) ECL NOR Gate
(iv) CMOS inverter

Options :

91294246085,

91394346036.

91394346087.

91394346033.

(D), (i), (i), (iv)

(i), (iv), (iid), ()

(iii), (iv), (i), (i)

(iv), (ii), (iid), (i)

Question Number : 122 Question Id ;: 91394311730 Question Type : MCQ Option Shuffling : Yes Display Question Number ;: Yes

Single Line Question Option : Ne Option Orientation ;: Vertical

Correct Marks : 2 Wrong Marks : 0
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Arrange in increasing order of the transistors used in the below mentioned circuits.

(i) TTL NAND (Totem Pole Circuit)
(ii) DTL NAND Gate

(iii) ECL NOR Gate

(iv) CMOS inverter

Options :

91394346085, (1, (i), (iid), (iv)

91394348088, O W) (D, @

91394346087, (iii), (iv), (1), (ii)

91394346088, 7 ) D, O

Question Number : 123 Question Id : 91394311731 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

g

Consider the unit step response of the system defined as Gfis) = T+10
S

and read the following.
(1) Kg is the gain of the system

(11) Rt is the transient response of the system

(131) Ess is the steady-state error of the system

Arrange the above in increasing order of their numerical values for the
given system.

Options :

i), (iD), (iii
91394346039, (@) (i), (i)

i), (iii), (il
91394346090, Sl

i), (ii), (i
91394346091, (R0

i), (iii), (i
91394346092, (il 6

Question Number : 123 Question Id : 91394311731 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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g

Consider the unit step response of the system defined as G{s) = Ex 10
S

and read the following.
(i) KE is the gain of the system
(ii) R, is the transient response of the system

(iii) E is the steady-state error of the system

Arrange the above in increasing order of their numerical values for the
given system.

Options :
i), (i), (ii
91394346039. @ (i), (i)
i), (iii), (ii
91394346090, (@ (i), (1)
iii), (i), (i
91394346091 (i), (), @
(i), (iii), (D)
91394346092

Question Number : 124 Question Id : 91394311732 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Following are the modulation schemes :

(i) AM
i) FM
(iii) DWDM
(iv CWDM

Arrange their adjacent channel band gap in ascending order. The correct sequence is :

Options :
91394346093, O (D V), (i)
91394346094, O O HD V)
91394346095, O @ () (D
91394346096, o O (V)

Question Number : 124 Question Id : 91394311732 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct Marks : 2 Wrong Marks : 0

Following are the modulation schemes :

i AM
i) FM
(i) DWDM
(iv) CWDM

Arrange their adjacent channel band gap in ascending order. The correct sequence is:

Options
91394346093, O I (V)
91394346094, O I (D V)
91394346095, O @ (D, (D
01394346096, P (¥ @)

Question Number : 125 Question Id : 91394311733 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Consider the following materials :
(i) Quartz
(ii) Ammonium dihydrogen phosphate
(iii) Lithium sulphate
Arrange the above materials in decreasing order of their dielectric constants.

Options :

01394346097, W
01394346008, O
91394346090, 0 W) ()
91394346100, WD, @)

Question Number : 125 Question Id ; 91394311733 Question Type : MC(Q Option Shuffling : Yes Display Question Number ;: Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :
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Consider the following materials :

(i) Quartz

(ii) Ammonium dihydrogen phosphate

(iii) Lithium sulphate

Arrange the above materials in decreasing order of their dielectric constants.

Options :

91394346097. (@) (i), (i)

ii), (iii), (i
91394346093. Ry

i), (ii), (i
913943460989, (R0

1), (iii), (ii
91394346100, IS

Sub-Section Number: 5
Sub-Section Id: 013943594
Question Shuffling Allowed : Yes

Question Number : 126 Question Id : 91394311734 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :

The following items consist of two statements, one labelled as “Assertion (A)” and the other
labelled as the “Reason (R)”. You are to examine the two statements carefully and decide if
the Assertion (A) and the Reason (R) are individually true and if so whether the reason
is a correct explanation of the assertion. Select your answer to these items using the codes
given below and mark your answer accordingly.

Assertion (A) : Nyquist rate of sampling is the theoretical minimum sampling rate at which
signal can be sampled and still be reconstructed from its samples.

Reason (R) : When the Nyquist rate sampling is used, only an ideal low pass filter can be
used to extract signal x(t) from sampled signal x_(t).

Code:
Options :
Both (A) and (R) are true and (R) is the correct explanation of (A).
91394346101,
Both (A) and (R) are true, but (R) is not the correct explanation of (A).
91394346102,

(A) is true, but (R) is false.
91394346103,
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(A) is false, but (R) is true.
913942346104,

Question Number : 126 Question Id : 91394311734 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The following items consist of two statements, one labelled as “Assertion (A)” and the other
labelled as the “Reason (R)”. You are to examine the two statements carefully and decide if
the Assertion (A) and the Reason (R) are individually true and if so whether the reason
is a correct explanation of the assertion. Select your answer to these items using the codes
given below and mark your answer accordingly.

Assertion (A) : Nyquist rate of sampling is the theoretical minimum sampling rate at which
signal can be sampled and still be reconstructed from its samples.

Reason (R) : When the Nyquist rate sampling is used, only an ideal low pass filter can be
used to extract signal x(t) from sampled signal x_(t).

Code:
Options :
Both (A) and (R) are true and (R) is the correct explanation of (A).
91394346101,
Both (A) and (R) are true, but (R) is not the correct explanation of (A).
91394346102,
(A) is true, but (R) is false.
91394346103,
(A) is false, but (R) is true.
91394346104,

Question Number : 127 Question Id : 91394311735 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The following items consist of two statements, one labelled as “Assertion (A)” and the other
labelled as the “Reason (R)”. You are to examine the two statements carefully and decide if
the Assertion (A) and the Reason (R) are individually true and if so whether the reason
is a correct explanation of the assertion. Select your answer to these items using the codes
given below and mark your answer accordingly.

Assertion (A) : A sphygmomanometer is always used in conjunction with a means to
determine at what pressure, blood flow is just starting, and at what pressure it is
unimpeded.

Reason (R) : Manual sphygmomanometers are used in conjunction with a stethoscope.
Code:

Options :

Both (A) and (R) are true and (R) is the correct explanation of (A).
91394346105,
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Both (A) and (R) are true, but (R) is not the correct explanation of (A).
912942461086,

(A) is true, but (R) is false.
91394346107

(A) is false, but (R) is true.
913945346105,

Question Number : 127 Question Id ;: 91394311735 Question Type : MC(Q Option Shuffling : Yes Display Question Number ; Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :

The following items consist of two statements, one labelled as “Assertion (A)” and the other
labelled as the “Reason (R)”. You are to examine the two statements carefully and decide if
the Assertion (A) and the Reason (R) are individually true and if so whether the reason
is a correct explanation of the assertion. Select your answer to these items using the codes
given below and mark your answer accordingly.

Assertion (A) : A sphygmomanometer is always used in conjunction with a means to
determine at what pressure, blood flow is just starting, and at what pressure it is
unimpeded.

Reason (R) : Manual sphygmomanometers are used in conjunction with a stethoscope.

Code:
Options :

Both (A) and (R) are true and (R) is the correct explanation of (A).
91394346105,

Both (A) and (R) are true, but (R) is not the correct explanation of (A).
91394346106,

(A) is true, but (R) is false.
91394346107.

(A) is false, but (R) is true.
91394346108.

Question Number : 128 Question Id : 91394311736 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The following items consist of two statements, one labelled as “Assertion (A)” and the other
labelled as the “Reason (R)”. You are to examine the two statements carefully and decide if
the Assertion (A) and the Reason (R) are individually true and if so whether the reason
is a correct explanation of the assertion. Select your answer to these items using the codes
given below and mark your answer accordingly.

Assertion (A) : The total capacitance of a MOS system is a series combination of insulator
capacitance and semiconductor depletion layer capacitance.

Reason (R) : MOS structure is an integral part of MOSFET.

Code:

Options :
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Both (A) and (R) are true and (R) is the correct explanation of (A).
91294246109,

Both (A) and (R) are true, but (R) is not the correct explanation of (A).
91394346110,

(A) is true, but (R) is false.
91394546111

(A) is false, but (R) is true.
91394346112,

Question Number : 128 Question Id : 91394311736 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The following items consist of two statements, one labelled as “Assertion (A)” and the other
labelled as the “Reason (R)”. You are to examine the two statements carefully and decide if
the Assertion (A) and the Reason (R) are individually true and if so whether the reason
is a correct explanation of the assertion. Select your answer to these items using the codes
given below and mark your answer accordingly.

Assertion (A) : The total capacitance of a MOS system is a series combination of insulator
capacitance and semiconductor depletion layer capacitance.

Reason (R) : MOS structure is an integral part of MOSFET.

Code:
Options :
Both (A) and (R) are true and (R) is the correct explanation of (A).
91394346109,
Both (A) and (R) are true, but (R) is not the correct explanation of (A).
91394346110,
(A) is true, but (R) is false.
91394346111,
(A) is false, but (R) is true.
91394346112,

Question Number : 129 Question Id : 91394311737 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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The following items consist of two statements, one labelled as
“Assertion (A)” and the other labelled as the “Reason (R)”. You are
to examine the two statements carefully and decide if the Assertion
(A) and the Reason (R) are individually true and if so whether the
reason is a correct explanation of the assertion. Select your answer to
these items using the codes given below and mark your answer

accordingly.
Assertion (A) :  Silicon devices can be used up to 150°C.
Reason (R) : The energy band gap of Silicon is 1'1 eV.
Code:
Options :
Both (A) and (R) are true and (R) is the correct explanation of (A).
91394548113,
Both (A) and (R) are true, but (R) is not the correct explanation of (A).
91394546114,
(A) is true, but (R) is false.
91394548115,
(A) is false, but (R) is true.
913945348116,

Question Number : 129 Question Id : 91394311737 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :

The following items consist of two statements, one labelled as

“Assertion (A)” and the other labelled as the “Reason (R)”. You are

to examine the two statements carefully and decide if the Assertion
(A) and the Reason (R) are individually true and if so whether the

reason is a correct explanation of the assertion. Select your answer to
these items using the codes given below and mark your answer
accordingly.

Aszsertion (A) :  Silicon devices can be used up to 150°C.
Reason (R) : The energy band gap of Silicon is 1-1 eV.
Code:

Options :

Both (A) and (R) are true and (R) is the correct explanation of (A).
91394346113,

Both (A) and (R) are true, but (R) is not the correct explanation of (A).
91394346114,

(A) is true, but (R) is false.
91394346115.
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(A) is false, but (R) is true.
91394346116,

Question Number : 130 Question Id : 91394311738 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The following items consist of two statements, one labelled as
“Assertion (A)” and the other labelled as the “Reason (R)”. You are
to examine the two statements carefully and decide if the Assertion
(A) and the Reason (R) are individually true and if so whether the
reason is a correct explanation of the assertion. Select your answer to
these items using the codes given below and mark your answer

accordingly.
Assertion (A) -  The inductor behaves as a short circuit at s = 0 and as an
open circuit at s = co.
Reason (R) : The driving point impedance of an inductor has a zero at
s =0 and a pole at 5 = <.
Code ;
Options :
Both (A) and (R) are true and (R) is the correct explanation of (A).
91394346117.
Both (A) and (R) are true, but (R) is not the correct explanation of (A).
91394346118.
(A) is true, but (R) is false.
91394346119.
(A) is false, but (R) is true.
913943461 20.

Question Number : 130 Question Id : 91394311738 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The following items consist of two statements, one labelled as
“Assertion (A)” and the other labelled as the “Reason (R)”. You are
to examine the two statements carefully and decide if the Assertion
(A) and the Reason (R) are individually true and if so whether the
reason is a correct explanation of the assertion. Select your answer to
these items using the codes given below and mark your answer

accordingly.

Assertion (A) : The inductor behaves as a short circuit at s = 0 and as an
open circuit at s = co.

Reason (R) : The driving point impedance of an inductor has a zero at

s =0 and a pole at 5 = «=.

Code :
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Both (A) and (R) are true and (R) is the correct explanation of (A).
91394346117.

Both (A) and (R) are true, but (R) is not the correct explanation of (A).
91394346118,

(A) is true, but (R) is false.
91394346119.

(A) is false, but (R) is true.
91394346120,

Question Number : 131 Question Id : 91394311739 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
The following items consist of two statements, one labelled as “Assertion (A)” and the other
labelled as the “Reason (R)”. You are to examine the two statements carefully and decide if
the Assertion (A) and the Reason (R) are individually true and if so whether the reason

is a correct explanation of the assertion. Select your answer to these items using the codes
given below and mark your answer accordingly.

Assertion (A) : It is not possible to increase the overall voltage amplification by cascading
common collector stages.

Reason (R) : The voltage gain of a common collector configuration is less than unity.

Code:
Options :

Both (A) and (R) are true and (R) is the correct explanation of (A).
91394346121,

Both (A) and (R) are true, but (R) is not the correct explanation of (A).
91394346122,

(A) is true, but (R) is false.
91394346123.

(A) is false, but (R) is true.
91394346124,

Question Number : 131 Question Id : 91394311739 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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The following items consist of two statements, one labelled as “Assertion (A)” and the other
labelled as the “Reason (R)”. You are to examine the two statements carefully and decide if
the Assertion (A) and the Reason (R) are individually true and if so whether the reason
is a correct explanation of the assertion. Select your answer to these items using the codes
given below and mark your answer accordingly.

Assertion (A) : It is not possible to increase the overall voltage amplification by cascading
common collector stages.

Reason (R) : The voltage gain of a common collector configuration is less than unity.
Code:

Options :

Both (A) and (R) are true and (R) is the correct explanation of (A).
91394346121,

Both (A) and (R) are true, but (R) is not the correct explanation of (A).
91394346122,

(A) is true, but (R) is false.
91394346123.

(A) is false, but (R) is true.
91394346124,

Question Number : 132 Question Id : 91394311740 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The following items consist of two statements, one labelled as “Assertion (A)” and the other
labelled as the “Reason (R)”. You are to examine the two statements carefully and decide if
the Assertion (A) and the Reason (R) are individually true and if so whether the reason
is a correct explanation of the assertion. Select your answer to these items using the codes
given below and mark your answer accordingly.

Assertion (A) : The drain induced barrier lowering and channel length modulation are some
of the short channel effects in MOSFET.,

Reason (R) : The cut-off frequency of a MOSFET is independent of gate to source and gate
to drain capacitance.

Code:
Options :

Both (A) and (R) are true and (R) is the correct explanation of (A).
91394346125,

Both (A) and (R) are true, but (R) is not the correct explanation of (A).
91394346126,

(A) is true, but (R) is false.
91394346127.

(A) is false, but (R) is true.
913943461283.
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Question Number : 132 Question Id : 91394311740 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

The following items consist of two statements, one labelled as “Assertion (A)” and the other
labelled as the “Reason (R)”. You are to examine the two statements carefully and decide if
the Assertion (A) and the Reason (R) are individually true and if so whether the reason
is a correct explanation of the assertion. Select your answer to these items using the codes
given below and mark your answer accordingly.

Assertion (A) : The drain induced barrier lowering and channel length modulation are some
of the short channel effects in MOSFET.

Reason (R) : The cut-off frequency of a MOSFET is independent of gate to source and gate
to drain capacitance.

Code:
Options :

Both (A) and (R) are true and (R) is the correct explanation of (A).
91394346125,

Both (A) and (R) are true, but (R) is not the correct explanation of (A).
91394346126,

(A) is true, but (R) is false.
91394346127.

(A) is false, but (R) is true.
91294246128,

Question Number : 133 Question Id : 91394311741 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The following items consist of two statements, one labelled as “Assertion (A)” and the other
labelled as the “Reason (R)”. You are to examine the two statements carefully and decide if
the Assertion (A) and the Reason (R) are individually true and if so whether the reason
is a correct explanation of the assertion. Select your answer to these items using the codes
given below and mark your answer accordingly.

Assertion (A) : The output of a bipolar transistor inverter does not respond instantaneously
to the input signal and exhibits finite time lag.

Reason (R) : The load gate(s) and junction capacitance of bipolar transistor inverter offer a
certain amount of capacitance to the driving inverter.

Code:
Options :

Both (A) and (R) are true and (R) is the correct explanation of (A).
91394346129,

Both (A) and (R) are true, but (R) is not the correct explanation of (A).
91394346130,

(A) is true, but (R) is false.
912942461321,
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(A) is false, but (R) is true.
913943461322

Question Number : 133 Question Id : 91394311741 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The following items consist of two statements, one labelled as “Assertion (A)” and the other
labelled as the “Reason (R)”. You are to examine the two statements carefully and decide if
the Assertion (A) and the Reason (R) are individually true and if so whether the reason
is a correct explanation of the assertion. Select your answer to these items using the codes
given below and mark your answer accordingly.

Assertion (A) : The output of a bipolar transistor inverter does not respond instantaneously
to the input signal and exhibits finite time lag.

Reason (R) : The load gate(s) and junction capacitance of bipolar transistor inverter offer a
certain amount of capacitance to the driving inverter.

Code:
Options :
Both (A) and (R) are true and (R) is the correct explanation of (A).
91394346129,
Both (A) and (R) are true, but (R) is not the correct explanation of (A).
91394346130,
(A) is true, but (R) is false.
91394346121,
(A) is false, but (R) is true.
91394346132,

Question Number : 134 Question Id : 91394311742 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :

The following items consist of two statements, one labelled as “Assertion (A)” and the other
labelled as the “Reason (R)”. You are to examine the two statements carefully and decide if
the Assertion (A) and the Reason (R) are individually true and if so whether the reason
is a correct explanation of the assertion. Select your answer to these items using the codes
given below and mark your answer accordingly.

Assertion (A) : Thyristor is a switching device. It is required to turn it ON and OFF
according to the requirement.

Reason (R) : During reverse conduction, gate current is to be supplied through the gate in
SCRs.

Code:
Options :

Both (A) and (R) are true and (R) is the correct explanation of (A).
91394346133,
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Both (A) and (R) are true, but (R) is not the correct explanation of (A).
91294246124,

(A) is true, but (R) is false.
91394346135.

(A) is false, but (R) is true.
913945346156,

Question Number : 134 Question Id ; 91394311742 Question Type : MC(Q Option Shuffling : Yes Display Question Number ; Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :

The following items consist of two statements, one labelled as “Assertion (A)” and the other
labelled as the “Reason (R)”. You are to examine the two statements carefully and decide if
the Assertion (A) and the Reason (R) are individually true and if so whether the reason
is a correct explanation of the assertion. Select your answer to these items using the codes
given below and mark your answer accordingly.

Assertion (A) : Thyristor is a switching device. It is required to turn it ON and OFF
according to the requirement.

Reason (R) : During reverse conduction, gate current is to be supplied through the gate in
SCRs.

Code:
Options :

Both (A) and (R) are true and (R) is the correct explanation of (A).
91394346123,

Both (A) and (R) are true, but (R) is not the correct explanation of (A).
91394346134,

(A) is true, but (R) is false.
91394346135.

(A) is false, but (R) is true.
91394346136,

Question Number : 135 Question Id : 91394311743 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The following items consist of two statements, one labelled as “Assertion (A)” and the other
labelled as the “Reason (R)”. You are to examine the two statements carefully and decide if
the Assertion (A) and the Reason (R) are individually true and if so whether the reason
is a correct explanation of the assertion. Select your answer to these items using the codes
given below and mark your answer accordingly.

Assertion (A) : There are many applications in which digital outputs are required to be
generated in accordance to the sequence in which input signals are received.

Reason (R) : These belong to such applications which only depend on the present input
state.

Code:
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Both (A) and (R) are true and (R) is the correct explanation of (A).
913943461327,

Both (A) and (R) are true, but (R) is not the correct explanation of (A).
91394346138,

(A) is true, but (R) is false.
91394346139.

(A) is false, but (R) is true.
91394346140,

Question Number : 135 Question Id : 91394311743 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The following items consist of two statements, one labelled as “Assertion (A)” and the other
labelled as the “Reason (R)”. You are to examine the two statements carefully and decide if
the Assertion (A) and the Reason (R) are individually true and if so whether the reason
is a correct explanation of the assertion. Select your answer to these items using the codes
given below and mark your answer accordingly.

Assertion (A) : There are many applications in which digital outputs are required to be
generated in accordance to the sequence in which input signals are received.

Reason (R) : These belong to such applications which only depend on the present input

state.
Code:
Options :
Both (A) and (R) are true and (R) is the correct explanation of (A).
91394346137,
Both (A) and (R) are true, but (R) is not the correct explanation of (A).
91394346138,
(A) is true, but (R) is false.
91394346139,
(A) is false, but (R) is true.
91394346140,

Question Number : 136 Question Id : 91394311744 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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The following items consist of two statements, one labelled as “Assertion (A)” and the other
labelled as the “Reason (R)”. You are to examine the two statements carefully and decide if
the Assertion (A) and the Reason (R) are individually true and if so whether the reason
is a correct explanation of the assertion. Select your answer to these items using the codes
given below and mark your answer accordingly.

Assertion (A) : In microprocessor, the control buses and address buses are multiplexed. They
can be demultiplexed by using ALE signals.

Reason (R) : The 8085 microprocessor signals can be classified in various groups, namely
address bus, data bus, control bus and status signals, externally initiated signals and
acknowledgement, power and frequency, serial I/0 signals.

Code:
Options :

Both (A) and (R) are true and (R) is the correct explanation of (A).
91394346141,

Both (A) and (R) are true, but (R) is not the correct explanation of (A).
91394346142,

(A) is true, but (R) is false.
91394346143,

(A) is false, but (R) is true.
91394346144,

Question Number : 136 Question Id : 91394311744 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The following items consist of two statements, one labelled as “Assertion (A)” and the other
labelled as the “Reason (R)”. You are to examine the two statements carefully and decide if
the Assertion (A) and the Reason (R) are individually true and if so whether the reason
is a correct explanation of the assertion. Select your answer to these items using the codes
given below and mark your answer accordingly.

Assertion (A) : In microprocessor, the control buses and address buses are multiplexed. They
can be demultiplexed by using ALE signals.

Reason (R) : The 8085 microprocessor signals can be classified in various groups, namely
address bus, data bus, control bus and status signals, externally initiated signals and
acknowledgement, power and frequency, serial I/0 signals.

Code:
Options :
Both (A) and (R) are true and (R) is the correct explanation of (A).
91394346141,
Both (A) and (R) are true, but (R) is not the correct explanation of (A).
91394346142,

(A) is true, but (R) is false.
91394346143,
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(A) is false, but (R) is true.
91394346144,

Question Number : 137 Question Id : 91394311745 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The following items consist of two statements, one labelled as “Assertion (A)” and the other
labelled as the “Reason (R)”. You are to examine the two statements carefully and decide if
the Assertion (A) and the Reason (R) are individually true and if so whether the reason
is a correct explanation of the assertion. Select your answer to these items using the codes
given below and mark your answer accordingly.

Assertion (A) : A multiplexer (MUX) is a device which selects one of the many inputs to a
single output.

Reason (R) : A digital multiplexer is a sequential circuit that selects binary information from
one of the many input lines and directs it to a single output line.

Code:
Options :
Both (A) and (R) are true and (R) is the correct explanation of (A).
91394346145,
Both (A) and (R) are true, but (R) is not the correct explanation of (A).
91394346146,
(A) is true, but (R) is false.
91394346147,
(A) is false, but (R) is true.
91394346148,

Question Number : 137 Question Id : 91394311745 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :

The following items consist of two statements, one labelled as “Assertion (A)” and the other
labelled as the “Reason (R)”. You are to examine the two statements carefully and decide if
the Assertion (A) and the Reason (R) are individually true and if so whether the reason
is a correct explanation of the assertion. Select your answer to these items using the codes
given below and mark your answer accordingly.

Assertion (A) : A multiplexer (MUX) is a device which selects one of the many inputs to a
single output.

Reason (R) : A digital multiplexer is a sequential circuit that selects binary information from
one of the many input lines and directs it to a single output line.

Code:
Options :

Both (A) and (R) are true and (R) is the correct explanation of (A).
91394346145,
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Both (A) and (R) are true, but (R) is not the correct explanation of (A).
91=29424614¢6.

(A) is true, but (R) is false.
91394346147.

(A) is false, but (R) is true.
91394546145,

Question Number : 138 Question Id ;: 91394311746 Question Type : MC(Q Option Shuffling : Yes Display Question Number ; Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :

The following items consist of two statements, one labelled as “Assertion (A)” and the other
labelled as the “Reason (R)”. You are to examine the two statements carefully and decide if
the Assertion (A) and the Reason (R) are individually true and if so whether the reason
is a correct explanation of the assertion. Select your answer to these items using the codes
given below and mark your answer accordingly.

Assertion (A) : A short linear conductor is often called a short dipole.

Reason (R) : In a short dipole, the length is much lesser than the wavelength and the
diameter of the dipole is also much lesser than the length.

Code:
Options :

Both (A) and (R) are true and (R) is the correct explanation of (A).
913943461489,

Both (A) and (R) are true, but (R) is not the correct explanation of (A).
91394346150,

(A) is true, but (R) is false.
91394346151.

(A) is false, but (R) is true.
91394346152.

Question Number : 138 Question Id : 91394311746 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The following items consist of two statements, one labelled as “Assertion (A)” and the other
labelled as the “Reason (R)”. You are to examine the two statements carefully and decide if
the Assertion (A) and the Reason (R) are individually true and if so whether the reason
is a correct explanation of the assertion. Select your answer to these items using the codes
given below and mark your answer accordingly.

Assertion (A) : A short linear conductor is often called a short dipole.

Reason (R) : In a short dipole, the length is much lesser than the wavelength and the
diameter of the dipole is also much lesser than the length.

Code:

Options :
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Both (A) and (R) are true and (R) is the correct explanation of (A).

91394346149,
Both (A) and (R) are true, but (R) is not the correct explanation of (A).
91394346150,
(A) is true, but (R) is false.
91394346151,
(A) is false, but (R) is true.
91394346152,

Question Number : 139 Question Id : 91394311747 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The following items consist of two statements, one labelled as
“Assertion (A)” and the other labelled as the “Reason (R)”. You
are to examine the two statements carefully and decide if the
Assertion (A) and the Reason (R) are individually true and if so
whether the reason is a correct explanation of the assertion. Select
your answer to these items using the codes given below and mark
your answer accordingly.

Assertion (A):  In magnetron, each cavity with its input gap acts as an
open circuit transmission line of length half wavelength

long.
Reason (R) : In magnetrons, usual mode employed is the ‘7T mode,
where the phase change between the adjacent cavities is
7 radians.
Code:
Options :
Both (A) and (R) are true and (R) is the correct explanation of (A).
91394346153,
Both (A) and (R) are true, but (R) is not the correct explanation of (A).
91394346154,
(A) is true, but (R) is false.
91394346155.
(A) is false, but (R) is true.
91394346156,

Question Number : 139 Question Id : 91394311747 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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The following items consist of two statements, one labelled as
“Assertion (A)” and the other labelled as the “Reason (R)”. You
are to examine the two statements carefully and decide if the
Assertion (A) and the Reason (R) are individually true and if so
whether the reason is a correct explanation of the assertion. Select
your answer to these items using the codes given below and mark
your answer accordingly.
Assertion (A) : In magnetron, each cavity with its input gap acts as an
open circuit transmission line of length half wavelength

long.
Reason (R) : In magnetrons, usual mode employed is the ‘7T mode,
where the phase change between the adjacent cavities is
7 radians.
Code:
Options :
Both (A) and (R) are true and (R) is the correct explanation of (A).
91394346153,
Both (A) and (R) are true, but (R) is not the correct explanation of (A).
91394346154,
(A) is true, but (R) is false.
91394346155,
(A) is false, but (R) is true.
91394346156,

Question Number : 140 Question Id : 91394311748 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Yertical

Correct Marks : 2 Wrong Marks : 0

The following items consist of two statements, one labelled as “Assertion (A)” and the other
labelled as the “Reason (R)”. You are to examine the two statements carefully and decide if
the Assertion (A) and the Reason (R) are individually true and if so whether the reason
is a correct explanation of the assertion. Select your answer to these items using the codes
given below and mark your answer accordingly.

Assertion (A) : A necessary and sufficient condition for a feedback system to be stable is that
all the poles of the system transfer function have negative real parts.

Reason (R) : To obtain a bounded response, the poles of the closed loop system must be in
the left half portion of the splan.

Code:

Options :

Both (A) and (R) are true and (R) is the correct explanation of (A).
91394346157,

Both (A) and (R) are true, but (R) is not the correct explanation of (A).
91394346158,
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(A) is true, but (R) is false.
91394346159,

(A) is false, but (R) is true.
91394346160,

Question Number : 140 Question Id ;: 91394311748 Question Type : MC(Q Option Shuffling : Yes Display Question Number ;: Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks ;

The following items consist of two statements, one labelled as “Assertion (A)” and the other
labelled as the “Reason (R)”. You are to examine the two statements carefully and decide if
the Assertion (A) and the Reason (R) are individually true and if so whether the reason
is a correct explanation of the assertion. Select your answer to these items using the codes
given below and mark your answer accordingly.

Assertion (A) : A necessary and sufficient condition for a feedback system to be stable is that
all the poles of the system transfer function have negative real parts.

Reason (R) : To obtain a bounded response, the poles of the closed loop system must be in
the left half portion of the splan.

Code:
Options :

Both (A) and (R) are true and (R) is the correct explanation of (A).
91394346157,

Both (A) and (R) are true, but (R) is not the correct explanation of (A).
91394346158,

(A) is true, but (R) is false.
91394346159.

(A) is false, but (R) is true.
91394346160.

Question Number : 141 Question Id ;: 91394311749 (Question Type : MCQ Option Shuffling : Yes Display Question Number ;: Yes
Single Line Question Option : Ne Option Orientation ;: Vertical

Correct Marks ;: 2 Wrong Marks ;

The following items consist of two statements, one labelled as “Assertion (A)” and the other
labelled as the “Reason (R)”. You are to examine the two statements carefully and decide if
the Assertion (A) and the Reason (R) are individually true and if so whether the reason
is a correct explanation of the assertion. Select your answer to these items using the codes
given below and mark your answer accordingly.

Assertion (A) : At the output of a two-port network, the total noise is due to the contribution
of several, more than two noise sources.

Reason (R) : The message signal at the input of the port is accompanied by noise sources,
and while passing through the two-port network, additional noise is added to the signal.

Code:

Options :
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Both (A) and (R) are true and (R) is the correct explanation of (A).
91=2942461¢€1.

Both (A) and (R) are true, but (R) is not the correct explanation of (A).
91394346162,

(A) is true, but (R) is false.
91394546163,

(A) is false, but (R) is true.
91394346164,

Question Number : 141 Question Id : 91394311749 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The following items consist of two statements, one labelled as “Assertion (A)” and the other
labelled as the “Reason (R)”. You are to examine the two statements carefully and decide if
the Assertion (A) and the Reason (R) are individually true and if so whether the reason
is a correct explanation of the assertion. Select your answer to these items using the codes
given below and mark your answer accordingly.

Assertion (A) : At the output of a two-port network, the total noise is due to the contribution
of several, more than two noise sources.

Reason (R) : The message signal at the input of the port is accompanied by noise sources,
and while passing through the two-port network, additional noise is added to the signal.

Code:
Options :

Both (A) and (R) are true and (R) is the correct explanation of (A).
91394346161,

Both (A) and (R) are true, but (R) is not the correct explanation of (A).
91394346162,

(A) is true, but (R) is false.
91394346163,

(A) is false, but (R) is true.
91394346164,

Question Number : 142 Question Id : 91394311750 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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The following items consist of two statements, one labelled as “Assertion (A)” and the other
labelled as the “Reason (R)”. You are to examine the two statements carefully and decide if
the Assertion (A) and the Reason (R) are individually true and if so whether the reason
is a correct explanation of the assertion. Select your answer to these items using the codes
given below and mark your answer accordingly.

Assertion (A) : The problem of interference is solved by translating the message signals to
different radio frequencies.

Reason (R) : The signals from various sources transmitted through open space cause
interference and no useful message is passed to the receiver.

Code:
Options :

Both (A) and (R) are true and (R) is the correct explanation of (A).
91394346165,

Both (A) and (R) are true, but (R) is not the correct explanation of (A).
91394346166,

(A) is true, but (R) is false.
91394534167,

(A) is false, but (R) is true.
913943461¢68.

Question Number : 142 Question Id : 91394311750 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The following items consist of two statements, one labelled as “Assertion (A)” and the other
labelled as the “Reason (R)”. You are to examine the two statements carefully and decide if
the Assertion (A) and the Reason (R) are individually true and if so whether the reason
is a correct explanation of the assertion. Select your answer to these items using the codes
given below and mark your answer accordingly.

Assertion (A) : The problem of interference is solved by translating the message signals to
different radio frequencies.

Reason (R) : The signals from various sources transmitted through open space cause
interference and no useful message is passed to the receiver.

Code:
Onptions :

Both (A) and (R) are true and (R) is the correct explanation of (A).
91394346165,

Both (A) and (R) are true, but (R) is not the correct explanation of (A).
91394346166,

(A) is true, but (R) is false.
91394346167.

(A) is false, but (R) is true.
91394534165,
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Question Number : 143 Question Id : 91394311751 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The following items consist of two statements, one labelled as “Assertion (A)” and the other
labelled as the “Reason (R)”. You are to examine the two statements carefully and decide if
the Assertion (A) and the Reason (R) are individually true and if so whether the reason
is a correct explanation of the assertion. Select your answer to these items using the codes
given below and mark your answer accordingly.

Assertion (A) : Polarization preserving fibers have a special core design that maintains the
state of polarization.

Reason (R) : In polarization preserving fibers, there is a stress applying part, which creates
slow and fast axes in the core.

Code:
Options :
Both (A) and (R) are true and (R) is the correct explanation of (A).
91394346169,
Both (A) and (R) are true, but (R) is not the correct explanation of (A).
91394346170,
(A) is true, but (R) is false.
91394346171,
(A) is false, but (R) is true.
91394346172,

Question Number : 143 Question Id : 91394311751 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The following items consist of two statements, one labelled as “Assertion (A)” and the other
labelled as the “Reason (R)”. You are to examine the two statements carefully and decide if
the Assertion (A) and the Reason (R) are individually true and if so whether the reason
is a correct explanation of the assertion. Select your answer to these items using the codes
given below and mark your answer accordingly.

Assertion (A) : Polarization preserving fibers have a special core design that maintains the
state of polarization.

Reason (R) : In polarization preserving fibers, there is a stress applying part, which creates
slow and fast axes in the core.

Code:
Options :

Both (A) and (R) are true and (R) is the correct explanation of (A).
91394346169,

Both (A) and (R) are true, but (R) is not the correct explanation of (A).
91394346170,
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(A) is true, but (R) is false.
91394346171.

(A) is false, but (R) is true.
91394346172,

Question Number : 144 Question Id ; 91394311752 Question Type : MC(Q Option Shuffling : Yes Display Question Number ;: Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks ;

The following items consist of two statements, one labelled as “Assertion (A)” and the other
labelled as the “Reason (R)”. You are to examine the two statements carefully and decide if
the Assertion (A) and the Reason (R) are individually true and if so whether the reason
is a correct explanation of the assertion. Select your answer to these items using the codes
given below and mark your answer accordingly.

Assertion (A) : A cyclo converter is a converter used for the conversion from AC to AC at

different frequency levels.
Reason (R) : At lower frequency, the total harmonic distortion is higher in cycloconverters
than usual de link inverters.
Code:
Options :
Both (A) and (R) are true and (R) is the correct explanation of (A).
91394346173,
Both (A) and (R) are true, but (R) is not the correct explanation of (A).
91394346174,
(A) is true, but (R) is false.
91394346175,
(A) is false, but (R) is true.
91394346176,

Question Number : 144 Question Id ;: 91394311752 Question Type : MCQ Option Shuffling : Yes Display Question Number ;: Yes
Single Line Question Option : Ne Option Orientation ;: Vertical

Correct Marks ;: 2 Wrong Marks ;

The following items consist of two statements, one labelled as “Assertion (A)” and the other
labelled as the “Reason (R)”. You are to examine the two statements carefully and decide if
the Assertion (A) and the Reason (R) are individually true and if so whether the reason
is a correct explanation of the assertion. Select your answer to these items using the codes
given below and mark your answer accordingly.

Assertion (A) : A cyclo converter is a converter used for the conversion from AC to AC at
different frequency levels.

Reason (R) : At lower frequency, the total harmonic distortion is higher in cycloconverters
than usual de link inverters.

Code:

Options :
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Both (A) and (R) are true and (R) is the correct explanation of (A).
91294246172,

Both (A) and (R) are true, but (R) is not the correct explanation of (A).
91394346174,

(A) is true, but (R) is false.
913945346175,

(A) is false, but (R) is true.
91394346176,

Question Number : 145 Question Id : 91394311753 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The following items consist of two statements, one labelled as “Assertion (A)” and the other
labelled as the “Reason (R)”. You are to examine the two statements carefully and decide if
the Assertion (A) and the Reason (R) are individually true and if so whether the reason
is a correct explanation of the assertion. Select your answer to these items using the codes
given below and mark your answer accordingly.

Assertion (A) : The storage oscilloscope enables the capture and storage of a transient signal
that occurs only once.

Reason (R) : The trace of the signal cannot be reproduced later for sufficiently long time so
as to be visually analyzed or for photographic recording.

Code:
Options :

Both (A) and (R) are true and (R) is the correct explanation of (A).
91394346177,

Both (A) and (R) are true, but (R) is not the correct explanation of (A).
913943461783,

(A) is true, but (R) is false.
91394346179.

(A) is false, but (R) is true.
9139434618K0.

Question Number : 145 Question Id : 91394311753 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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The following items consist of two statements, one labelled as “Assertion (A)” and the other
labelled as the “Reason (R)”. You are to examine the two statements carefully and decide if
the Assertion (A) and the Reason (R) are individually true and if so whether the reason
is a correct explanation of the assertion. Select your answer to these items using the codes
given below and mark your answer accordingly.

Assertion (A) : The storage oscilloscope enables the capture and storage of a transient signal
that occurs only once.

Reason (R) : The trace of the signal cannot be reproduced later for sufficiently long time so
as to be visually analyzed or for photographic recording.

Code:

Options :

91394346177.

91394346173.

91394346179.

91294246180,

Both (A) and (R) are true and (R) is the correct explanation of (A).

Both (A) and (R) are true, but (R) is not the correct explanation of (A).

(A) is true, but (R) is false.

(A) is false, but (R) is true.

Sub-Section Number: 6
Sub-Section Id: 013943595
Question Shuffling Allowed : Yes
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Question Id : 91394311754 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension

Questions : No

Question Numbers : (146 to 150)
Question Label : Comprehensic}n

Read the passage and answer the following five questions.

A digital filter uses a digital processor to perform numerical calculations on sampled values
of the signal. The processor may be a general purpose such as a PC or specialised DSP chip.
The analog input signal must first be sampled and digitised using an ADC. The resulting
binary numbers, representing successive sampled values of the signal, are transferred to
the processor, which carries out numerical calculations on them. These calculations typically
involve multiplying the input values by constants and adding the products together. The
results of these calculations, which now represent sampled values of the filtered signal, are
converted back to the signal using a DAC.

Sub questions

Question Number : 146 Question Id : 91394311755 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
The order of a digital filter is defined as

Options :
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91294246181.

91394346132.

91394346183.

91394346134.
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The number of previous outputs used to calculate the current output of the filter
The number of previous inputs used to calculate the current output of the filter
The number of previous inputs and outputs used to calculate the current output of the filter

The number of coefficients in the current output of the filter

Question Number : 147 Question Id : 91394311756 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

An 111"h order recursive filter generally requires

Options :

91394346185.

91394346136.

91394346157.

91394346133.

n-previous inputs and (n — 1) previous outputs.

(n — 1) previous inputs and n-previous outputs.

(n — 1) previous inputs and (n — 1) previous outputs.

n previous inputs and n previous outputs

Question Number : 148 Question Id : 91394311757 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Read the following statements regarding digital filters :

(i) Its operation is determined by a program stored in the processor’s memory.

(ii) It cannot handle low frequency signal aceurately.

(iii) It can only be changed by redesigning the circuitry.

(iv) It is extremely stable with respect to both time and temperature.

Which of the above statements are correct ?
Choose the correct answer from the code given below :

Code:

Options :

91394346189.

91394246190,

(i) and (ii)

(ii) and (iii)
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91394346191, O and (i)

91394346192 O and @)

Question Number : 149 Question Id ;: 91394311758 Question Type : MCQ Option Shuffling : Yes Display Question Number ;: Yes
Single Line Question Option : Ne Option Orientation ;: Vertical

Correct Marks ;: 2 Wrong Marks ;
A digital filter is characterized by the equation

yn] + y[n — 1) =x[n] + x[n - 2]. The filter is

Options :

91394346193, Linear and Time variant

91394346194 Causal and Stable

91294346195 Non-causal and Time invariant

Linear, Causal and Unstable
913943461 96.

Question Number : 150 Question Id : 91394311759 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

(= 2: =24
The impulse response of a filter is defined as h[n] = { 2; n=13
| 0 otherwise

This filter is a

Options :

91394346197, Non-recursive IIR filter

Jissasasygy Toeousive [ dilter

91394346199, Non-recursive FIR filter

a13g4zqsocq —eonxsive FIR fiter

Question Id : 91394311754 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (146 to 150)
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Question Label : Comprehension

Read the passage and answer the following five questions.

A digital filter uses a digital processor to perform numerical calculations on sampled values
of the signal. The processor may be a general purpose such as a PC or specialised DSP chip.
The analog input signal must first be sampled and digitised using an ADC. The resulting
binary numbers, representing successive sampled values of the signal, are transferred to
the processor, which carries out numerical calculations on them. These calculations typically
involve multiplying the input values by constants and adding the products together. The
results of these calculations, which now represent sampled values of the filtered signal, are
converted back to the signal using a DAC.

Sub questions

Question Number : 146 Question Id : 91394311755 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
The order of a digital filter is defined as

Options :

The number of previous outputs used to calculate the current output of the filter
91394346181.

The number of previous inputs used to calculate the current output of the filter
91394346182,

The number of previous inputs and outputs used to calculate the current output of the filter
91394346183.

The number of coefficients in the current output of the filter
91394346184,

Question Number : 147 Question Id : 91394311756 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

An n'" order recursive filter generally requires

Options :

91394346185, n-previous inputs and (n — 1) previous outputs.
91394346136, (n — 1) previous inputs and n-previous outputs.
sissqsiEiay —-iprevionsinputaend (-~ 1) previous outputs.
T - e L e s

Question Number : 148 Question Id : 91394311757 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Read the following statements regarding digital filters :

(i) Its operation is determined by a program stored in the processor’s memory.
(ii) It cannot handle low frequency signal aceurately.

(iii) It can only be changed by redesigning the circuitry.

(iv) It is extremely stable with respect to both time and temperature.

Which of the above statements are correct ?

Choose the correct anawer from the code given below :

Code:

Options :

(i) and (ii)
91394346189,

91394346190, o and (i)

91394346191, O and (i)

e
9139434610, O 2nd (W)

Question Number : 149 Question Id : 91394311758 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
A digital filter is characterized by the equation

y[n] + y[n — 1) =x[n] + x[n - 2]. The filter is

Options :

91394346193 Linear and Time variant

91394346194, Causal and Stable

91294346195 Yon-causal and Time invariant

Linear, Causal and Unstable
913943461 96.

Question Number : 150 Question Id : 91394311759 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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The impulse response of a filter is defined as h[n] = <

This filter is a

Options :

91394346197,

913943461 983.

91394346199,

91394346200,

Non-recursive IIR filter

Recursive I1IR filter

Non-recursive FIR filter

Recursive FIR filter
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